WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0103 GREEN 0113 GREEN 0115 | 0213 YELLOW 0215
S-240-3 S-146-3 {Q‘:} S-198-3 | S-233-3 {E} S-233-3G
Hot or Cold Hot or Cold Hot or Cold | Hot or Cold Hot or Cold
(Brass) (Plastic) Genuine
LDR UNION BRASS / GERBER
Plastic TOWN & COUNTRY
& @ =
01-4052 14 01-4076 82 01-4075 HL-101MB

LT

el
= =

# 16 O-Ring # 35 Stem Washer Repair Kit # 22 O-Ring # 38 Stem Washer
02-1520 02-1842 (Nylon) 0-4105 02-1506 02-1844 (Fiber)
Washerless Seal
02-1900
0221 YELLOW 0223 YELLOW 0225 YELLOW 0226
S-157-3 {Q‘:} S-236-3 {Q‘:} S-329-3 {Q‘:} S-329-3L
Hot or Cold Hot or Cold Hot or Cold Hot or Cold
Long Style
MIDCOR / MIDDLEFIELD PEERLESS / LARDEN
OEM # 25608
Import
=
= =
01-4080 14 01-4080 14 01-4080
% ’
| | 1]
I
# 37 O-Ring # 43 O-Ring (Top) # 10 O-Ring (Bottom) # 37 O-Ring
02-1580 02-1576 02-1552 02-1580

# 16 O-Ring (Internal)
02-1520

02/18/05

FAUCET REPAIR 5CO JEE LARSEN SUPPLY GOLING >+




WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0228 YELLOW 0229 | 0231 YELLOW 0232 YELLOW 0233
S-221-3 S-222-3 | S-446-3 S-442-2 S-442-3
Hot or Cold Hot or Cold | Hot or Cold Cold 0234
18 Thread 20 Thread Lever only S_442_3G
Genuine

STREAMWAY / PHOENIX PHOENIX

Plastic / Brass

TS @9 s

HC-139 01-4080 01-4080

STREAMWAY / NIBCO

¥ &

8-32 01-4080

# 9 O-Ring (Internal) # 41 O-Ring (External) #9 O-Ring # 41 O-Ring # 15 O-Ring # 15 O-Ring (Internal) # 41 O-Ring (External)
02-1454 02-1524 (Internal Top) (External Top) (Internal Bottom) 02-1534 02-1524
02-1454 02-1524 02-1534
# 27 O-Ring
(External Bottom)
02-1414
0235 YELLOW 0237 YELLOW 0238
S-449-3 {G‘:} S-328-1 (I'I} S-328-2
Hot or Cold Hot Cold
LIFETIME CENTRAL BRASS
/

sy)

(1 =

f =

HC-131 01-4080 HL-96 10-32 01-4087
HC-132 HL-97
l %
—_———
EE—
# 41 O-Ring # 35 Stem Washer
02-1524 02-1842 (Nylon)
02/22/08

S-2 LARSEN SUPPLY CO., INC.

FAUCET REPAIR



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS
0243 YELLOW 0244 YELLOW 0245 | 0248 YELLOW 0249
S-231-3 @ S-161-1 @ S$-161-2 | S-154-1 S-154-2
Hot or Cold Hot Cold | Hot Cold
Brown Gray
BRADLEY ELKAY AMERICAN STANDARD
OEM # A51947 OEM # 30228
Duralux / Ceramic
= =
]
12 01-4082 01-4082
]
N
# 28 O-Ring Seat # 31 O-Ring (Top) # 15 O-Ring (Bottom) # 43 O-Ring (Top) # 46 O-Ring (Bottom)
02-1516 0-3092-1 02-1522 02-1534 02-1576 02-1558
0250 YELLOW 0257 | 0251 YELLOW 0256 | 0254 YELLOW
S-196-3 O S$-200-3 | S-197-3 @ S$-199-3 | DE16423 @
Hot or Cold Stainless Steel | Hot or Cold Stainless Steel | Hot or Cold
Brass Ball Brass Ball
DELTA DELTA DELTA
Round Stem Oval Stem OEM # 16423
Back to Back Ball
I e & D ¥ &
HL-48 0-3015 01-4013 H-51 HC-169 XSO1 01-4101 HC-169B
. © e
| 0-3015
| \
Cam / Packing Seat & Spring Cam / Packing Seat & Spring
0-3017 0-3019 0-3027 0-3019

11/13/05

FAUCET REPAIR 5CO JEN LARSEN SUPPLY COLINC. 5%



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0255 0258 | 0259 YELLOW 0263 YELLOW 0264
DE18037 DE12301 | DE20111 O S-203-3 S-203-3G
Hot or Cold Hot or Cold | Hot or Cold Hot or Cold @ HotGoernﬁ?r:g
Vacuum Breaker Ball DELTA DE24096 DELEX DE8230
OEM # 20111 Brass Stem Ceramic
YELLOW YELLOW Knob to Lever Conversion Ball RP2513 0265
' =
O
DELTA 14 01-4113 HC-169A
] T
T l
\ '

# 10 O-Ring (Internal) Repair Kit ~ # 37 O-Ring (External)
02-1552 0-3009 02-1580

Seat & Spring

0-3019

Stop Plate

DE24097
0270 YELLOW 0260 | 0272 16 PT 0273 | 0275 YELLOW 0262
$-203-1C @ S-203-1T |S-203-1BC P& S-203-2BC | S-203-3WC @ $-203-3T
Hot Hot/Red Top | Hot Cold | Hot/Cold . ) Hot/Cold
(;E;;M:C WASOH;RGLI:Z’SS LOJ CERAMIC White Mw;f;:%;tg;g

IMPORT

S-203-2C IG-'\I,eIlESBRz—J S-203-2T Brass Ceramic IMPORT
Cold Import Cold/White Top
CERAMIC WASHERLESS

A

~g¢——Brass ——3»|
Stem

Seat & Sprlng
TEAR DROP
PORT
ON BOTTOM

S-4 LARSEN SUPPLY CO., INC.

HC-110T 0-2995T

10/28/08

LASCO FAUCET REPAIR




WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0267 YELLOW 0273 YELLOW 0277 | 0279 YELLOW
. (D) a3 o] AEe S |0
SRA-3267 | SRA-4933
DELTA STERLING STERLING & KOHLER
Pressure Balance Kitchen or Lavatory 00A4933 . 77548
Single Lever Kitchen
A\ ()
HC-169C He-112 01-4137

L
[ | ] 1
| |
# 65 O-Ring Seat & Spring # 16 O-Ring (Internal)  Repair Kit  # 43 O-Ring (External)
02-1586 0-3019 02-1520 0-4043 02-1576
0285 YELLOW 0287 YELLOW 0293 YELLOW
S-234-3 @ S-237-3 @ S-230-3 @
Hot or Cold Hot or Cold Hot or Cold
Cartridge
UNIVERSAL - RUNDLE / UNIVERSAL - RUNDLE / VALLEY Il
MILWAUKEE MILWAUKEE
= o2 'l
: il
HC-256 01-4117 HC-256 01-4117 14 01-4115 HC'}2;’>4
HC-255
V-1814
| G
# 21 O-Ring Seat & Spring # 21 O-Ring Seat & Spring # 37 O-Ring Repair Kit Stem Extension
02-1504 0-2077 02-1504 0-2077 02-1580 0-3087 0-4003

01/23/06

FAUCET REPAIR 5CO JEN LARSEN SUPPLY COLINC. 5%



WASHERLESS - SINGLE LEVER -

TWIN HANDLE STEMS

0330 0319 ORANGE 0320 | 0329 ORANGE
0-4035 S-330-1 @ $-330-2 | S-331-3 O
Hot Cold | Hot or Cold
KOHLER KOHLER KOHLER
Pressure Balance Cartridge OEM # 76671 / 76672 OEM # 30413
OEM #500520 _ Coralais Coralais
HC-289
| 1
I. D j [ 1 1
N /
é P
# 37 O-Ring (Top) # 43 O-Ring (Bottom) # 65 O-Ring (Top) # 8 O-Ring (Bottom)
02-1580 02-1576 02-1586 02-1508
0333 ORANGE 0334 | 0335 ORANGE 0337 ORANGE
S-441-3 S-441-3G | S-164-3 {5‘:} S-460-3 @
Hot or Cold Hot or Cold | Hot or Cold Hot or Cold
Genuine
MOEN MOEN
OEM # 1224 Plastic OEM # 1248
Plastic Roman Tub
Ho
7 B
HC-246 10-24 MO14986 HC-243 HC-131 01-4080
HC-132

S-6

=)

-
# 28 O-Ring # 10 O-Ring
02-1516 02-1552

LARSEN SUPPLY CO., INC.

I

]

D)

nen

# 38 O-Ring
02-1518

08/19/05

FAUCET REPAIR



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0340 ORANGE 0341 ORANGE 0342 | 0343 ORANGE 0344
0-4021 S-426-1 S-426-2 | S-170-1 S-170-2
2 {:Q:} g | B {:Q:} 5%
GERBER / STANADYNE UNIVERSAL - RUNDLE / UNIVERSAL - RUNDLE /
BRADLEY / ELKAY SEARS / ELKAY
01-4082 01-4082

—

WP Y
—

Repair Kit # 30 O-Ring (Top) # 15 O-Ring (Bottom) # 30 O-Ring (Top) # 15 O-Ring (Bottom)
0-3091 02-1562 02-1534 02-1562 02-1534

0351 ORANGE 0352 | 0355 ORANGE 0356 | 0360 ORANGE

S-439-1 S-439-2 | S-424-1 S-424-2 | 0-2061
Rg& gﬁlg Hot Cold || Cartridge @

UNIVERSAL - RUNDLE UNIVERSAL - RUNDLE / PRICE PFISTER

E
SEARS / MILWAUKEE OEM # 900-022

Tub & Shower
HC-360 01-4119

01-4117

I_E_' (NOT ACTUAL SIZE)

# 37 O-Ring (Top) # 15 O-Ring (Bottom) Seat & Spring
02-1580 02-1534 0-2077

FAUCET REPAIR 5CO JEN LARSEN SUPPLY COLINC. 57



WASHERLESS - SINGLE LEVER -
ORANGE

0361 ORANGE 0365
0-2091 |:| 0-2085
971-150 974-491
Slotted Broach Cartridge

PRICE PFISTER

Pressure Balance
OEM # 971-150

0362
0-2087

971-250
Old Style

©

0364
0-2089

974-291
Balance Spool

PRICE PFISTER

Pressure Balance

OEM # 971-250

(NOT ACTUAL SIZE)

TWIN HANDLE STEMS

0376
PP974-042

Cartridge

ORANGE

PRICE PFISTER
OEM # 974-042
OX8 Cartridge

(NOT ACTUAL SIZE)
# 18 O-Ring (Top) # 92 O-Ring (Bottom) PP970-780 #38 O-Ring
02-1556 02-1438 Stop For O/S 02-1518
Slotted Stem 4 Bolt Gasket PP970-280 Stem
PP974-560 PP960-460 Stop For N/S PP974-760
0363 ORANGE 0366 ORANGE 0367 | 0368 ORANGE 0369
0-2081 0-4039 0-4041 | 0-4047 D 0-4049
Cartridge Cartridge @ Cartridge | Cartridge Cartridge
W/O Diverter W/ Diverter
PRICE PFISTER STERLING STERLING
OEM # 974-570 OEM #A5013 / #A5023 OEM # 05020 OEM # 05010
Genesis Kitchen Shower or Lavatory
01-4121
- =1
O
2-1/2" M ﬁ
— I
————— 3 3-1/16”
Ur=]! Q. O
: '  — )
I L r I——T 0
[/ 6 L[ 1Y
(NOT ACTUAL SIZE) - =] - -
(NOT ACTUAL SIZE)
#56 O-Ring (Top) #36 O-Ring (Hub) #61 O-Ring (Bottom) # 19 O-Ring Seat & Spring
02-1546 02-1532 02-1568 02-1514 0-4045

S-8

LARSEN SUPPLY CO., INC.

] Lsco FAUCET REPAIR

04/21/08



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0370 ORANGE
0-3081 O
Cartridge
VALLEY
OEM # 6680
Old Style
)
=
L-50 01-4103

=N

I |

| 1
Repair Kit Seat & Spring
0-3083 0-3087

0373 ORANGE
0-3099 @
Cartridge

VALLEY

OEM # V6005

Back to Back

HC-172B

i

2-9/16"
i=]1
L
(NOT ACTUAL SIZE)
e

06/27/00

FAUCET REPAIR LASCO

0371 ORANGE

0-3095

\9V7grli3dig:rter
VALLEY

OEM # VP1964

L]

|
[ 1L
]

F

A
# 59 O-Ring Repair Kit
02-1486 0-3093
0374 ORANGE
S
VALLEY
OEM # V5078

Kitchen Pullout

# 59 Top O-Ring Repair Kit
02-1486 0-3093

#61 Bottom O-Ring

02-1568

31631C

0372 ORANGE
0-3097
ez,
VALLEY
OEM # VP1965
Vs
//‘ \
HL-50NS
# 59 Top O-Ring Repair Kit
02-1486 0-3093
#61 Bottom O-Ring
02-1568
0375 ORANGE
S-461-3
Hot or Cold
VALLEY
OEM # V6860
Roman Tub .
@ iﬁ\ 1}»
01-4103 -
H

=

# 37 O-Ring (Top) # 15 O-Ring (Bottom)
02-1580 02-1534

g LARSEN SUPPLY CO., INC. S-9



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0378 0379 ORANGE
S-353-3 DE25609
Hot or Cold Cartridge
Cartridge
LASCO DELTA
Non-Metallic Import
{ W V
e |_| ]
101
| I
3-9/16"
[ |
f 1 0 1
= __|
(NOT ACTUAL SIZE)
0381 ORANGE 0383 ORANGE
AS61226-04 AS63131-04

AMERICAN STANDARD
OEM # 61226-04
Fiesta Lavatory

AMERICAN STANDARD
OEM # 63131-04
Fiesta Kitchen

&=

AS61228-04

©2

s\

&

AS61228-04

—
=

Repair Kit Repalr Klt
0-1025

S-10 LARSEN SUPPLY CO., INC.

0380 ORANGE

0-2079 ©)

UNIVERSAL - RUNDLE

Carefree
01-4097 T HL-124
[ |
1; L

# 56 O-Ring
02-1546

0385 ORANGE

0-1051 D
Cartridge

AMERICAN STANDARD
OEM # 57864-07
Aquarian / Kitchen or Lavatory

=4 =

HL-52 HL-53

Repalr Klt (Old) Repair Kit (New) O-Ring (Spout)
0-1035 0-1053

8 Gallon Model
AS69382-07

FAUCET REPAIR



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0386
0-1057

Cartridge

ORANGE

AMERICAN STANDARD
OEM # 23529-07
Ceramix

-

™ N

==
e
°<:>
AS60343-07
Disc with Seals

0389
0-1055

Cartridge

(-
[
[—
(-
AS60366-07
Spou Seal Kit

ORANGE

AMERICAN STANDARD
O hor>o7

j

I!E

# 27 O-Ring (Internal)
02-1414

06/16/02

FAUCET REPAIR LASCO

# 64 O-Ring (External)
02-1424

0387
AS63845-07

ORANGE

AMERICAN STANDARD
OEM # 63845-07
Aqua Mix / Tub or Shower

—
3-11/16"
(NOT ACTUAL SIZE)
0391 ORANGE 0392
S-171-1 S-171-2
Hot Cold

WOLVERINE BRASS

=

01-4066

(LD

=

# 37 O-Ring (Top) # 24 O-Ring (Bottom)
02-1580 02-1548

# 8 O-Ring (Internal)
02-1508

0388
AS66269-07

ORANGE

AMERICAN STANDARD

OEM # 66269-07
Ultra Mix

2-3/4"

(NOT ACTUAL SIZE)

Seal
AS69437-07

0399 ORANGE

0-3073

Cartridge
BRADLEY COLE

=

01-4105

3-3/16"

(NOT ACTUAL SIZE)

g LARSEN SUPPLY CO., INC. Sl



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0415 0416 | 0411 PURPLE 0413 PURPLE
KO-77759 KO-77886 | S-470-3 {Q‘:} S-471-4 {Q‘:}
With Broach Square Broach || Hot or Cold Diverter
KOHLER MIDCOR PHOENIX
4-Bolt Garden Tub
Pressure Balanced S
W & A =
— ng}g; 01-4080 HC-133 01-4080
3-1/4"
3-3/16"
3-3/8"
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)

# 27 O-Ring (Top) #9 O-Ring (Bottom)
02-1414 02-1454

# 15 O-Ring (Middle)
02-1534

0-4035
0419 PURPLE 0420 PURPLE
0-4037 SRA-2979 | 0-4057S 0O
Cartridge ESCUTCHEON & HANDLE
STERLING/KOHLER STERLING
OEM # A5200 * 71969 Short Model
Shower Mixer
@) &
HC-44 HC-113 01-4153 03-1739
3 3-5/8"

(NOT ACTUAL SIZE)

S-12

(NOT ACTUAL SIZE)

# 8 O-Ring (Top) # 16 O-Ring (Bottom) Repair Kit
02-1508 02-1520 0-4043

LARSEN SUPPLY CO., INC.

# 40 O-Ring (Top)
02-1538

0423
0-2083

Cartridge

# 15 O-Ring (Bottom)
02-1534
# 27 O-Ring (Middle)
02-1414

PURPLE
O

PRICE PFISTER
OEM # 974-170
Pull-Out / Kitchen

(NOT ACTUAL SIZE)

08/19/05

FAUCET REPAIR



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0441 PURPLE 0442 | 0451 PURPLE 0452 | 0459 PURPLE
S-627-3 S$-627-3S | S-731-1 @ S-731-2 | 0-4029
Hot or Cold Hot or Cold | Hot Cold | Cartridge
HARDEN UNIVERSAL - RUNDLE / ELKAY
BRADLEY / ELKAY OEM # A-52399-R

=

01-4082

3-9/16"
3-1/4"
| |
(NOT ACTUAL SIZE) ( ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
Seat Kit
LKA-53226-R
g‘lg%oCIAL 0471 0475
ORDERZ KO-30092 KO-22909
ELKAY KOHLER KOHLER
OEM # 51866-R Niedecken Shower Valve - 3 1/32”
Permacore Yoke Assembly
— a I
R
{1 | 3
3-3/4" lT-I i - Y :l
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
Seat Stem - 3 5/8” # 22 Packing
X-224 KO-22124 0

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 516



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0485 PURPLE 0487 PURPLE 0489 PURPLE
S-729-4 O S-735-4 S-735-4T
Diverter Diverter Diverter

DELTA DELEX IMPORT

Push Button

DE6046 ’I
I I |
3-11/16" ﬁ
3-1/8"
= o
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
# 37 O-Ring
02-1580
0503 BLUE 0505 BLUE 0511 BLUE 0491
S-815-3 @ S-815-3P @ S-761-4 S-760-4
Hot or Cold Hot or Cold OEM # 1394 OEM # 1198
4" Long 2-7/8" Long
MIXET MIXET MOEN
Pressure Balance DIVERTER

@ &9 @

- MIMSRNC HL-58 HC-40 HL-58
(Chrome Plated) (Chrome Plated) ﬁ —
HC-41 (Clear) HL-58A (Clear) HC-41 HL-58A
HC-41N (Smoke) HL-58AN (Smoke) (Clear) (Clear) —

03-1699CP
4-5/16" 4.1/
4" 2-7/8"
Handle w/
Stem ﬂg- JE—
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
# 28 O-Ring Repair Kit # 0 Packing # 28 O-Ring Repair Kit # 0 Packing # 43 O-Ring
02-1516 0-3061 02-1776 02-1516 0-3061 02-1776 02-1576
00 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw
02-1100 XS-555 02-1100 XS-555
01/21/04
S-14 LARSEN SUPPLY CO,, INC. LASCO FAUCET REPAIR




WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0513 BLUE 0515 | 0517 BLUE 0518 | 0519 BLUE
S-814-3 @ S-814-3G | S-814-3A @ S-814-3P | S-764-3 MO96983
Hot or Cold Cartridge | Hot or Cold Cartridge | Hot or Cold BULK GENUINE
Cartridge Genuine | Cartridge Genuine
MOEN MOEN MOEN
OEM # 1200 OEM # 1225 OEM # 1222
Brass Posi-Temp
@ <@ @ & 2
il & ||uu \ il
HC-163 0-3057 31661C 31661C HC-163P HC-163PL
(Shower) (Chateau) (Shower) (Chateau)
HC-164 HC-164 —_—
(Lavatory) (Lavatory)
A PN ZN\
=/ ) | - f)
([lly =4 [HH 7
HL-56 31671C 31671C
(Kitchen) (Legend) (Kltchen) (Legend)
O 3 13/16" 4 316"
4 316"
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
Repair Kit Stem Extension Repair Kit Stem Extension Stem Exension Repair Kit
0-3051 M010399 0-3055 M010399 MO96945 0-3063
BLUE 0521 0523 BLUE 0533 BLUE 0535
DE19804 S-190-3 | S-191-3 DE32104 | S-811-3 S-811-3G
BULK CARDED | Cartridge Cartridge | Hot or Cold Cartridge
New Style New Style Cartridge Genuine
DELTA DELTA ) PRICE PFISTER
OEM # 19804 For Old 1500 Series & New 1700 Series Avante
Pressure Balance Pressure Balance
/‘,«n\* ‘f’«“‘t
HC-169C Lower Housing HC-169C HC-230 0-2071 0-2073 31641C
Assembly
DE19805 sy l
%
HL-123
g
4"
—_— 4"
Replaces
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
Seat & Spring Cap Assembly Repair Kit (Old) Repair Kit (New) Side Seal (Old Style) Repair Kit Side Seal (New Style)
0-3019 DE19806 DE16208 DE28603 0-2069W 0-2055 0-2069WN
Top 0-Ring Bottom 0-Ring Stem Extension
02-1584 02-1414 PP974-371A

12/21/05

FAUCET REPAIR 5CO BN LARSEN SUPPLY COL NG 515



WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0553 BLUE 0-4031 | 0573 BLUE 0583 BLUE
0-4057 SRA-3270 Hot | 0-4501 S-350-3
Cartridge O 0_4033 Cartridge Hot or Cold
SRA-3270 Cold
STERLING GROHE NIBCO
Long Model OEM # 07.000 OEM # 85844

Kitchen / Lavatory

) &
il - &7
(CEmD
HC-119 01-4153 03-1739 LK85841 LK86125
(Kitchen) (Lavatory)

Ceramic
Cartridge
—
4 18
3 13/16"
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
# 18 O-Ring (Top) Repair Kit # 16 O-Ring (Bottom) # 38 O-Ring
02-1508 0-4043 02-1520 02-1518
0585 BLUE 0587 BLUE 0591 BLUE
S-351-3 S-352-3 S-750-4
Hot or Cold Hot or Cold Diverter
NIBCO NIBCO VALLEY I
OEM # 85843 OEM # 85549
Kitchen w/ Diverter Tub & Shower
&7 !
LK85841 LK85555
(Kitchen) (Tub or Shower) —
Z
[T A
w 4"
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
# 16 O-Ring (Internal) # 37 O-Ring (External)
02-1520 02-1580

01/11/08

* L\sco FAUCET REPAIR




WASHERLESS - SINGLE LEVER - TWIN HANDLE STEMS

0593 BLUE 0595 BLUE 0598 BLUE
0-4007 0-4009 V-4750 | SP05-352
artridge artridge Bulk
carne “""%*  GROHE/VALLEY/
VALLEY NEWPORT BRASS SPEAKMAN
OEM # V-4268 OEM # 41-03-1285 OEM # G05-0352
o Pressure Balance Tempress Il Color-Temp
e
i
WY
HC-172B .
fla}
N Vo —\
O
INLO || © 3 78"
4" .: 3 14"
= Q —o
(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
0623 RED 0631 RED 0632 | 0663 RED 0673
S-1123-3 @ S-1177-1 {E} S-1177-2 | GR47-041 GR47-025
Hot or Cold Hot Cold | Cartridge Special Order
1/2 Valve 3/4 Valve
HARDEN BRASS GROHE
Mixing Valve

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
Repair Kit # 28 O-Ring # 0 Packing
0-3061 02-1516 02-1776
00 Bibb Washer Bibb Screw
02-1100 XS-

04/01/04

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., IN

C.




STANDARD CARTRIDGES ° FITS MANY MANUFACTURES

0310 35MM 0311 35MM
0-3201 0-3203
EUROPEAN STYLE EUROPEAN STYLE
A Style B Style

(NOT ACTUAL SIZE) (NOT ACTUAL SIZE)
Height Diameter Height Diameter
2-1/4" 1-3/8" (35mm) 2-11/16" 1-3/8" (35mm)
0315 40MM 0305 0316 40MM 0423
0-3213 S-340-3 0-3215 0-2083
Same As Price Pfister
Same As
EUROPEAN STYLE EUROPEAN STYLE
A Style B Style

(NOT ACTUAL SIZE)

(NOT ACTUAL SIZE)

Height Diameter

Height Diameter
3-1/8" 1-9/16" (40mm)

2-1/2" 1-9/16" (40mm)
01/22/04

FAUCET REPAIR

S-18 LARSEN SUPPLY CO., INC.



1022 | 1031 1032

1011 1012 | 1021
S-123-1 @ S-123-2 | S-124-1 @ S-124-2 | S-144-1 @ S-144-2
Hot Cold | Hot Cold | Hot Cold
REPCAL REPCAL CRANE
Crestmont

(@

N
He-158

01-4074

8-32

Repair Kit Seat # 16 O-Ring
0-4063 X-19 02-1520
# 38 Stem Washer  1/4 Bibb Washer Bibb Screw
02-1844 (Fiber) 02-1104 XS-553
1040 1041
S-150-1 S-150-2
Hot Cold
Cartridge Cartridge

ARTISTIC BRASS

Ceramic
l @
10-24 01-4052

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC.

vTE ©ovE ov &

(@

((

HC-158 8-32 01-4074 HC-158 8-32 01-4047
HC-159 HC-159

Seat # 16 O-Ring # 22 O-Ring # 35 Stem Washer 00 Bibb Washer
02-1100

Repair Kit
0-4063 X-19 02-1520 02-1506 02-1842 (Nylon)
# 38 Stem Washer  1/4 Bibb Washer Bibb Screw Bibb Screw
02-1844 (Fiber) 02-1104 X8-553 X8-553
1042 1043 | 1051 1052
S-241-2 S-241-3 | S-111-1 S-111-2
Cold Hot or Cold | Hot Cold

ARTISTIC BRASS PRICE PFISTER

@ Sy
101 - { V' E
HC-‘ﬁ)S 10-24 01-4052 HC-236 HL-76P 10-24 01-4052
HC-106 HC-237 HL-77P
Repair Kit # 16 O-Ring # 35 Stem Washer Repair Kit Seat # 16 O-Ring
0-2075 02-1520 02-1842 (Nylon) 0-2001 X-24 02-1520

# 35 Stem Washer

00 Bibb Washer
02-1842 (Nylon) 02-1100

Seal Bibb Screw
02-1784 XS-553




1091 1092 | 1101 1102 | 1111 1112
S-139-1 S-139-2 | S-140-1 S$-140-2 | S-128-1 S-128-2
Hot Cold | Hot Cold | Hot Cold
ARROWHEAD ARROWHEAD ARROWHEAD
ol o7
e g e % (B %
nll::;? 12 01-4052 HII::?I? 14 01-4052 Ht:;? 14 01-4052
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring
0-2001 X-125 02-1520 0-2001 X-125 02-1520 0-4063 X-125 02-1520
# 35 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer  1/4 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 XS8-555 02-1842 (Nylon) 02-1100 X8-555 02-1842 (Nylon) 02-1104 XS8-555
1181 1182 | 1191 1192
S-112-1 S-112-2 | S-117-1 S-117-2
Hot Cold | Hot Cold
WESTBRASS HARCRAFT
= =
14 01-4052 14 01-4067
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring
0-2001 X-215 02-1520 0-2001 X-74 02-1520

# 35 Stem Washer

00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 S-555

S-20

LARSEN SUPPLY CO., INC.

# 35 Stem Washer

00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 $-553

02/22/08

FAUCET REPAIR



1302 | 1311 1312

1251 1252 | 1301
S-114-1 S-114-2 | S-101-1 S$-101-2 | S-129-1 S-129-2
Hot Cold | Hot Cold | Hot Cold
SAYCO WESTBRASS MANSFIELD
8-32 01-4075 10-24 01-4080 8-32 01-4080
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring
0-4085 X-42 02-1520 0-2001 X-215 02-1520 0-2001 X-39 02-1520
# 28 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer 00 Bibb Washer Bibb Screw
02-1516 02-1100 XS-555 02-1842 (Nylon) 02-1100 XS-553 02-1842 (Nylon) 02-1100 XS-555
1401 1402 | 1411 1412 | 1491 1492
S-126-1 S$-126-2 | S-137-1 S-137-2 | S-138-1 S-138-2
Hot Cold | Hot Cold | Hot Cold
ELJER KOHLER BURLINGTON
Lusterline Shoreham 2 - 48 Right
¥ (.S gy &
10-24 01-4087 HC-278 8-32 01-4087 8-32 01-4087
HC-279
A
Repair Kit Seat # 10 O-Ring Repair Kit Seat # 16 O-Ring Seat # 16 O-Ring # 35 Stem Washer
0-4069 X-75 02-1552 0-4083 X-210 02-1520 X-40 02-1520 02-1842 (Nylon)
Bibb Screw # 35 Stem Washer 00 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw
XS-555 02-1100 XS-555 02-1104 S-555

00 Bibb Washer
02-1100

'FAUCET REPAIR LASCO

02-1842 (Nylon)

§ LARSEN SUPPLY CO., INC. S-21



1501 1502 | 1511 1512 | 1561 1562

S-108-1 {g‘:} S-108-2 | S-115-1 {g‘:} S-115-2 | S-125-1 {g‘:} S-125-2
Hot Cold | Hot Cold | Hot Cold

INDIANA BRASS UNION GOPHER BRIGGS
=
82 01-4076 HC-283 14 01-4076 18 01-4076
HC-284
Seat # 16 O-Ring # 30 Stem Washer Repair Kit Seat (1964-ON) Seat (1958-1964) Seat # 18 O-Ring # 35 Stem Washer
X-36 02-1520 02-1562 0-4087 X-62 X-16 X-17 02-1556 02-1842 (Nylon)
1/4 Bibb Washer Bibb Screw # 16 O-Ring 1/4 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw
02-1104 XS8-555 02-1520 02-1104 X8-555 02-1100 X8-556
1601 1602 | 1605 1606 | 1611 1612
S-130-1 @ S$-130-2 | S-152-1 @ S-152-2 | S-141-1 @ S-141-2
Hot Cold | Hot Cold | Hot Cold
MILWAUKEE MILWAUKEE UNIVERSAL - RUNDLE /
New Style SEARS
= = =
14 01-4082 14 01-4082 12 01-4082

—

Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring Seat # 16 O-Ring # 43 Stem Washer
0-4083 X-39 02-1520 0-4083 X-39 02-1520 X-212 02-1520 02-1576
# 35 Stem Washer 0 Bibb Washer Bibb Screw # 35 Stem Washer 0 Bibb Washer 0 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1102 XS-553 02-1842 (Nylon) 02-1102 02-1102 XS-553

FAUCET REPAIR

S-22 LARSEN SUPPLY CO., INC.



YELLOW

2003 2023 2033 | 2043

S-229-3 @ S-219-3 ‘ $-219-3G | S-218-3 ‘

Hot or Cold Hot or Cold & HotG%rn(l:l?rltei Hot or Cold &
CRANE PRICE PFISTER PRICE PFISTER

Conversion Kit

10-24 01-4052

10-24 01-4052

(o
(@

8-32 01-4074

P (((

Il

# 16 O-Ring Repair Kit Seat # 16 O-Ring Seat # 16 O-Ring # 35 Stem Washer
02-1520 0-2001 X-24 02-1520 X-200/ 201 02-1520 02-1842 (Nylon)
# 35 Stem Washer 00 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 X8-553 02-1100 X8-553
2051 2052 | 2063 2065 2066
S-209-1 S-209-2 | S-320-3 S-242-3 S-242-2
Hot Cold | Hot or Cold Hot or Cold Cold
PRICE PFISTER PRICE PFISTER PRICE PFISTER

Hydro-Seal
New /'Quarter Turn

0 ¥ 29

0§ g &

= g =
HC-105 10-24 01-4052 HC-‘ﬁ)S 10-24 01-4052 HC-236 HC-300 10-24 01-4052 HC-305
HC-106 HC-106 HC-237 HC-302 HC-307
1|
[ W ]
o
wD\O% .
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring Repair Kit Seal # 16 O-Ring
0-2001 X-24 02-1520 0-2001 X-24 02-1520 0-2075 02-1784 02-1520
# 35 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer
02-1842 (Nylon) 02-1100 XS-553 02-1842 (Nylon) 02-1100 XS-553 02-1842 (Nylon)

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 52



YELLOW

2071 2072 2073 | 2075
S-220-5 S-220-2 S$-220-3 | S-243-3
Hot or Cold Cold Hot or Cold | Hot or Cold
Lever Only
PRICE PFISTER PRICE PFISTER PRICE PFISTER
Ori%inal Hydro-Seal Ceramic
Old Style
VAL s W
HC-105 14 01-4052 HC-236
HC-106 HC-237
Repair Kit # 15 O-Ring # 35 Stem Washer
0-2075 02-1520 02-1842 (Nylon)
025-751“84
2083 2101 2102 | 2105 2106
S-223-3 S-143-1 S-143-2 | S-210-1 S-210-2
Hot or Cold Hot Cold | Hot Cold
PRICE PFISTER PRICE PFISTER PRICE PFISTER
) = QW s =
HC-105 14 01-4052 HC-236 14 01-4052 14 01-4052
HC-106 HC-237
Repair Kit Seat # 16 O-Ring Seat 00 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw
0-2005 X-22 02-1520 X-24 02-1100 XS-553 02-1100 XS-555
Bibb Washer # 35 Stem Washer
02-1888 02-1842 (Nylon)
S-24

LARSEN SUPPLY CO., INC.

FAUCET REPAIR



YELLOW

2107 2108 | 2123 2135 2136
S-226-1 S-226-2 | S-116-3 S-134-1 S-134-2
Hot Cold | Hot or Cold Hot Cold
PRICE PFISTER HARCRAFT HARCRAFT
g &
E = =
14 01-4052 14 01-4064 14 01-4064
Seat 00 Bibb Washer Bibb Screw # 16 O-Ring (Top) Repair Kit # 18 O-Ring (Bottom) 00 Bibb Washer Bibb Screw
X-24 02-1100 XS-555 02-1520 0-4001 02-1556 02-1102 X$-553
Seat # 35 Stem Washer # 24 Stem Washer
X-74 02-1842 (Nylon) 02-1862 (Nylon)
00 Bibb Washer Bibb Screw
02-1100 -553
2141 2142 | 2151 2152 | 2161 2162
S-321-1 S-321-2 | S-214-1 @ S-214-2 | S-215-1 @ S-215-2
Hot Cold | Hot Cold | Hot Cold
ARROWHEAD AMERICAN STANDARD AMERICAN STANDARD
WI/O Bushing Aqua Seal
W/ Bushing
F SOFT s | SDF &
H = =
12 03-1639 14 01-4067 03-1639 14 01-4067
1
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 21 O-Ring Repair Kit Seat # 21 O-Ring
0-4063 X-125 02-1520 0-1029 X-50 02-1504 0-1029 X-50 02-1504
# 35 Stem Washer  1/4 Bibb Washer Bibb Screw Stem Washer Bushing Stem Washer Bushing
02-1842 (Nylon) 02-1104 XS-555 02-1794 0-5004 02-1794 0-5004
FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC.




YELLOW

2171 2172 | 2173 2174 | 2211 2212
S-204-1 @ S-204-2 | S-133-1 {ﬁ} S-133-2 | S-1211 {ﬁ} S-121-2
Hot Cold | Hot Cold || Hot Cold
AMERICAN STANDARD STERLING STERLING
Shower Stall
e =
14 01-4067 12 01-4056 03-1749 HL-O 12 01-4056

il S

Repair Kit Seat # 31 O-Ring Repair Kit # 16 O-Ring # 38 Stem Washer
0-1031 X-50 02-1522 0-4051 02-1520 02-1844 (Fiber)
Bushing 0 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw
AS855-17 02-1102 XS-555 02-1100 XS8-555
2215 2216 | 2221 2222 | 2231 2232
S-142-1 {ﬁ} S-142-2 | S-216-1 {ﬁ} S-216-2 | S-224-1 {ﬁ} S-224-2
Hot Cold | Hot Cold | Hot Cold
STERLING STERLING STERLING
¥ Pl § &
= | = / =
HL-O 82 01-4056 HL-O 12 01-4056 HL-88 HL-90 12 01-4056

[L111] [I i

{1

"Tl —
(OLD STYLE)

Seat # 16 O-Ring # 38 Stem Washer Repair Kit Seat # 16 O-Ring Seat # 16 O-Ring 00 Bibb Washer
X-26 02-1520 02-1844 (Fiber) 0-4051 X-26 02-1520 X-29 02-1520 02-1100
1/4 Bibb Washer Bibb Screw # 38 Stem Washer 00 Bibb Washer Bibb Screw Bibb Screw
02-1102 XS-555 02-1844 (Fiber) 02-1100 XS-555 XS-555

03/28/00

$-26 LARSEN SUPPLY CO., INC. FAUCET REPAIR




2241 2242 | 2263
S-318-1 {ﬁ} S-318-2 | S-326-3
Hot Cold Hot or Cold
STERLING
=
1Y E
HL-O XSSS 01-4056
Repair Kit Seat # 16 O-Ring Seat
0-4051 X-26 02-1520 X-26
# 38 Stem Washer 00 Bibb Washer Bibb Screw
02-1844 (Fiber) 02-1100 XS-555
2268 2269 | 2271
S$-205-1 {E} S-205-2 | S-107-1
Hot Cold | Hot
Commercial Faucet
|
L
HC-153
HC-154

[VYWY

&

Repair Kit
0-4087

YELLOW

2251 2252
S$-319-1 S-319-2
Hot Cold
STERLING STERLING
g @
10-32 01-4056
#16 O-Ring 00 Bibb Washer Repair Kit Seat #16 O-Ring
02-1520 02-1100 0-4051 X-26 02-1520
Bibb Screw # 38 Stem Washer 00 Bibb Washer Bibb Screw
XS-555 02-1844 (Fiber) 02-1100 XS-555
2272 | 2281 2282
S$-107-2 | S-207-1 S-207-2
Cold | Hot Cold
GERBER GERBER
l l
10-24 01-4075 10-24 01-4075
Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring
X-61 02-1520 0-4087 X-61 02-1520
# 38 Stem Washer  1/4 Bibb Washer Bibb Screw # 35 Stem Washer  1/4 Bibb Washer Bibb Screw
2-1104 XS-555 02-1842 (Nylon) 02-1104 XS-555

02-1844 (Fiber) 0.

FAUCET REPAIR LASCO

§ LARSEN SUPPLY CO., INC. S-27



YELLOW

2301 2302 | 2305 2307 | 2317 2318
S-325-1 {E} S-325-2 | S-156-1 {E} S$-156-2 | S-153-1 {E} S-153-2
Hot Cold | Hot Cold | Hot Cold
GERBER GERBER AUBURN BRASS
Ceramic Ceramic
@ i
= Al
8-32 01-4075 HC-264 01-4075 01-4075
HC-265
z
Repair Kit Seat # 16 O-Ring # 38 Stem Washer Washerless Seal
0-4087 X-61 02-1520 02-1844 (Fiber) 2-1900
# 38 Stem Washer  1/4 Bibb Washer Bibb Screw
02-1844 (Fiber) 02-1104 XS-553
2321 2322 | 2331 2332 | 2341 2342
S-119-1 {G‘:} S$-119-2 | S-120-1 {G‘:} S-120-2 | S-122-1 {G‘:} S-122-2
Hot Cold | Hot Cold | Hot Cold
18 Thread 18 Thread || 18 Thread 18 Thread || 20 Thread 20 Thread
STREAMWAY STREAMWAY STREAMWAY
=Nieh | =
- ‘ =
82 01-4080 HC-137 82 01-4080 HC-137
C-138 HC-138
Repair Kit Seat # 17 O-Ring Repair Kit Seat # 17 O-Ring Repair Kit Seat # 17 O-Ring
0-4061 X-77 02-1560 0-4061 X-77 02-1560 0-4061 X-77 02-1560

# 35 Stem Washer
02-1842 (Nylon)

# 35 Stem Washer 00 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 XS-555 02-1100 XS-555

S-28 LARSEN SUPPLY CO., INC.

# 35 Stem Washer

00 Bibb Washer
02-1842 (Nylon) 02-1100

Bibb Screw
XS-555

FAUCET REPAIR



0-2099T O 0-2099TT 0-2099TN O

GOBO / DANZA GOBO / DANZA GOBO / DANZA

SHOWER CARTRIDGE SHOWER CARTRIDGE SHOWER CARTRIDGE

09/25/02

FAUCET REPAIR LARSEN SUPPLY CO., INC.




NOTES

09/26/02

LASCO FAUCET REPAIR

S-28B LARSEN SUPPLY CO., INC. K%



2351 2352
S-102-1 S-102-2
;it?tl'hread 20 Th‘r:eoalg

AMERICAN BRASS /

STREAMWAY
) ‘
82 01-4080 HC-139
Repair Kit Seat # 17 O-Ring
0-4061 X-77 02-1560
# 35 Stem Washer 00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 XS-555
2384
S-160-4 {G‘:}
Diverter
STREAMWAY
HC-133

11

O

# 13 O-Ring (Internal) # 30 O-Ring (External)
02-1404 02-1562

11/21/02

FAUCET REPAIR LASCO

YELLOW

2353
S-445-3 6::}
Hot or Cold
20 Thread
PHOENIX / STREAMWAY
=
s
nt 132 82 01-4080
He3
:
=
)
Repair Kit Seat # 37 O-Ring
0-4061 X-77 02-1580
# 35 Stem Washer 00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 XS-555
2401 2402
S-106-1 S-106-2

Hot @ Cold

CENTRAL BRASS

(]

L}
HC-276 10-32 01-4087
97
<
L
%
4
L
Repair Kit Seat # 16 O-Ring
0-4083 X-32 02-1520

# 35 Stem Washer 0 Bibb Washer

Bibb Screw
02-1842 (Nylon) 02-1102 XS-555

2355
S-447-3

Hot or Cold
18 Thread

# 17 O-Ring (Internal) Seat # 37 O-Ring (External)
02-1560 X-77 02-1580
00 Bibb Washer Seat Bibb Screw
02-1100 X-77 XS8-555

S-106-1N {:H} S-106-2N
Hot Cold

CENTRAL BRASS

Lavato
New Style
Q!“]]I’ C
b =
HC-276 10-32 01-4087

Repair Kit Seat # 16 O-Ring
0-4083 X-32 02-1520

# 35 Stem Washer 0 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1102 XS-555

§ LARSEN SUPPLY CO., INC. S-29



YELLOW

2415 2416 | 2471 2472 | 2483
S-155-2 | S-127-1 S-127-2 | S-225-3
Cold | Hot Cold | Hot or Cold

S-155-1 €H}
Hot

CENTRAL BRASS

Ceramic
HG 12 01-4087
|
2493
S-211-3
Hot or Cold

LE

AMERICAN STANDARD
Cadet

il

HC-267

(o

10-24

01-4087

Repair Kit Seat Seal
0-1039 X-79 02-1798

S-30

LARSEN SUPPLY CO., INC.

E

AMERICAN STANDARD

10-24

({(

01-4087

E

AMERICAN STANDARD

10-24

(@

01-4087

Seat 0 Bibb Washer Bibb Screw Repair Kit Seat # 16 O-Ring
X-8 02-1102 XS-555 0-4083 X-8 02-1520
# 35 Stem Washer 0 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1102 XS-555
2571 2572 | 2581 2582
S-208-1 S-208-2 | S-312-1 S-312-2
Hot Cold | Hot Cold
MILWAUKEE MILWAUKEE
2y @
U ¥
&l Y = =
HC-276 10-24 01-4087 10-24 01-4087
Seat # 18 O-Ring # 35 Stem Washer Seat # 18 O-Ring # 35 Stem Washer
X-39 02-1556 02-1842 (Nylon) X-39 02-1556 02-1842 (Nylon)

1/4 Bibb Washer Bibb Screw
02-1104 XS-553

1/4 Bibb Washer
02-1104

Bibb Screw
XS-553

03/13/03

FAUCET REPAIR



YELLOW

2591 2592 | 2601 2602 | 2611 2612
S-438-1 {E s-438-2 | S-132-1 {E S$-132-2 | S-145-1 CI'I} S-145-2
Hot Cold | Hot Cold | Hot Cold
MILWAUKEE WESTBRASS BURLINGTON
Wall Mount
= = =
82 01-4087 14 01-4087 14 01-4087
Seat Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw
X-39 02-1106 XS-553 X-215 02-1104 XS-555 02-1104 XS-553
2621 2622 | 2631 2632 | 2635 2636
S$-206-1 {:L:} S-206-2 | S-131-1 {M‘:} S-131-2 | S-212-1 {M‘:} S-212-2
Hot Cold | Hot Cold | Hot Cold
AMERICAN STANDARD SPEAKMAN SPEﬁKtMAN
en
= = =
g = =
14 01-4068 14 01-4072 82 01-4072
| I
Seat 1/4 Bibb Washer Bibb Screw Seat 0 Bibb Washer Bibb Screw Seat 00 Bibb Washer Bibb Screw
X-58 02-1104 XS-555 X-45 02-1102 XS-555 X-34 02-1100 XS-553
FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC.




YELLOW

2651 2652 | 2701 2702 | 2711 2712
S-162-1 {Q‘:} S-162-2 | S-228-1 {Q‘:} S-228-2 | S-2171 {Q‘:} S-217-2
Hot Cold | Hot Cold | Hot Cold
CENTRAL BRIGGS BRIGGS
Ceramic EZ Close
73 & 77 &
W § &= W § &=
HC-174 10-28 01-4076 HC-174 10-28 01-4076
HC-175 HC-175

[111]

——

—
I!a.l.l.o-uu

# 8 O-Ring # 35 Stem Washer Bibb Washer Repair Kit Seat # 16 O-Ring
02-1508 02-1842 (Nylon) 02-1792 0-2001 X-17 02-1520
# 35 Stem Washer 00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 XS-553
2721 2722 | 2751 2752 | 2761 2762
S-309-1 {Q‘:} S$-309-2 | S-213-1 @ S-213-2 | S-322-1 @ S-322-2
Hot Cold | Hot Cold | Hot Cold
UNION GOPHER UNIVERSAL - RUNDLE UNIVERSAL - RUNDLE /

SEARS / MILWAUKEE

¥ &

]
10-24 01-4976 10-24 01-4082 10-24 01-4082

(]

(o
(o
© (@@

Seat 0 Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw Seat # 41 O-Ring # 31 O-Ring
2-1102 02-1104 XS-553

X-16 X-40 X-40 02-1524 02-1522
1/4 Bibb Washer Bibb Screw
02-1104 XS-553
01/02/01

FAUCET REPAIR

S-32 LARSEN SUPPLY CO., INC.



2771

2772 | 2804

YELLOW

2851
S-327-1 {Q‘:} S-327-2 | S-135-3 S-443-3
Hot Cold | Hot or Cold Hot or Cold

UNIVERSAL - RUNDLE /
SEARS / ELKAY

(@

8-32 01-4082
b
Seat # 18 O-Ring # 42 Stem Washer
X-40 02-1556 02-1826 (Fiber)
1/4 Bibb Washer Bibb Screw
02-1104 X8-553
2879 2880
S-165-1 S-165-2
Hot Cold
MILWAUKEE
Ceramic

8/21/98

PRICE PFISTER GROHE

OEM # 07146
Classic

=

01-4095

'&W

|

||
|

Il

# 1 Stem Packing # 42 Stem Washer 3/8L Bibb Washer

# 24 O-Ring (Internal) # 40 O-Ring (External)
02-1700 02-1826 (Fiber) 02-1112 02-1548 02-1538
Bibb Screw
X8-553
2881 2882 | 2883 2884
S-166-1 S-166-2 | S-167-1 S-167-2
Hot Cold | Hot Cold
MILWAUKEE MILWAUKEE
Ceramic Ceramic

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 555



YELLOW

2903
S-158-3

Hot or Cold

AMERICAN STANDARD

Europa

'«
JUEYD
\‘D\S L :
2910 2911
S-255-2

S-255-1
Hot

GOBO / DANZA

Ceramic

S-34

LARSEN SUPPLY CO., INC.

AS28610-07

BULK Hot or Cold

AMERICAN STANDARD

Amarilis
Lav & Widespread

OLD STYLE

2905
S-251-3

CARDED

AS28610-07

BULK Hot or Cold

AMERICAN STANDARD

Amarilis
Lav & Widespread

NEW STYLE

Seal Kit
AS30741-07

AS28628-07

Cold | BULK Hot or Cold

AMERICAN STANDARD

Seal Kit
AS30741-07

2907
S-253-3

CARDED

AS28628-07

AMERICAN STANDARD

Amarilis Amarilis
Shower Stem Shower Stem
OLD STYLE NEW STYLE
\L—I ﬂll]l » ]ﬂllm
- -
- - e w,

Seal Kit
AS30741-07

Seal Kit
AS30741-07

09/17/02

FAUCET REPAIR



3001 3002 | 3011
S-418-1 @ S-418-2 | S-404-1
Hot Cold | Hot
CRANE
Nusleeve
]
¥ & \@]
HC-158 8-32 01-4074 HC-158
HC-159 HC-159
%X
Seat 1/4 Bibb Washer Bibb Screw Repair Kit
X-11 02-1104 XS-555 0-1007
Fiber Disc
02-1758
3033 3043
S-616-3 @ S-624-3
Hot or Cold Hot or Cold
CRANE
Majic Close
01-4074
2 13/16"
(NOT ACTUAL SIZE)
# 20 O-Ring Fiber Disc # 39 Cork Gasket # 20 O-Ring
02-1530 02-1758 02-1760 02-1530
Seat Washer
02-1756

3012 | 3021
S-404-2 | S-405-1
Cold | Hot
CRANE
l
8-32 01-4074
o o
\\
NN
\\\
7
&
# 20 O-Ring # 39 Cork Gasket Repair Kit
02-1530 02-1760 0-1007
Seat Washer Fiber Disc
02-1756 02-1758
3101
S-411-1
Hot
CRANE
"
01-4074 HC-1J(;5
HC-106
Fiber Disc # 39 Cork Gasket Repair Kit
02-1758 02-1760 0-2015
Seat Washer # 28 Stem Washer
02-1756 02-1838 (Nylon)

3022
@ S-405-2
Cold
CRANE
]
82 01-4074
# 20 O-Ring # 39 Cork Gasket
02-1530 02-1760
Seat Washer
02-1756
3102
S-411-2
Cold

PRICE PFISTER

-
10-24 01-4052 HC-236
HC-237
Seat # 16 O-Ring
X-24 02-1520

00 Bibb Washer
02-1100

Bibb Screw
XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 538



ORANGE
3113 3123 3133
S-429-3 S-136-3 S-534-3
Hot or Cold Hot or Cold Hot or Cold
PRICE PFISTER PRICE PFISTER PRICE PFISTER
=
= = =
14 01-4052 14 01-4052 14 01-4052
Repair Kit Seat # 16 O-Ring Seat 00 Bibb Washer Bibb Screw # 1 Stem Packing # 19 Stem Washer Brass Washer
0-2015 X-24 02-1520 X-24 02-1100 XS-553 02-1710 02-1850 (Fiber) 02-1662
# 28 Stem Washer 00 Bibb Washer Bibb Screw Bibb Washer Bibb Screw
02-1838 (Nylon) 02-1100 XS-553 02-1108 X8-553
3141 3142 | 3151 3152 | 3193
S-605-1 S-605-2 | S-622-1 S-622-2 | S-536-3
Hot Cold | Hot Cold | Hot or Cold
PRICE PFISTER PRICE PFISTER PRICE PFISTER
Mobile Home
= =
= = =
14 01-4052 14 01-4052 14 01-4052 03-1623
2 34"
/1
Y/
(NOT ACTUAL SIZE) (NOT ACTUAI?IZE)
Repair Kit Seat # 16 O-Ring Seat 0 Bibb Washer Bibb Screw Repair Kit Seat # 16 O-Ring
0-2015 X-24 02-1520 X-24 02-1102 S-553 0-1197 X-216 02-1520

# 28 Stem Washer

00 Bibb Washer
02-1838 (Nylon) 02-1100

Bibb Screw
XS-553

S-36 LARSEN SUPPLY CO., INC.

# 41 Stem Washer

Bibb Screw
02-1806 (Fiber) XS-553

00 Bibb Washer
02-1100

FAUCET REPAIR



3203 3213
S-518-3 S-626-3
Hot or Cold Hot or Cold
HARCRAFT HARCRAFT
- =
. s
03-1665 14 01-4064 14 01-4064
# 15 O-Ring (External)  Repair Kit  # 16 O-Ring (Internal) Repair Kit Seat
02-1534 0-4001 02-1520 0-4001 X-74
Seat # 24 Stem Washer 00 Bibb Washer # 24 Stem Washer 00 Bibb Washer
X-74 02-1862 (Nylon) 02-1100 02-1862 (Nylon) 02-1100
Bibb Screw
XS-553
3225 3226 | 3227
S-435-1 S-435-2 | S-436-1
Hot Cold | Hot
FISHER PUBCO
¥ o
= =
14 01-4052 14 01-4064

1/4 Bibb Washer Bibb Screw 0 Bibb Washer
02-1104 XS-555 02-1102

3221 3222
S-431-1 S-431-2
Hot Cold
MUELLER
¥ &3
]
14 01-4052
# 16 O-Ring 0 Bibb Washer Bibb Screw
02-1520 02-1102 XS-555
Bibb Screw
XS-555
3228 | 3231 3232
S-436-2 | S-539-1 S-539-2
Cold | Hot Cold

UNIVERSAL - RUNDLE

10-24

ol (@

01-4052

Bibb Screw 1/4 Bibb Washer Bibb Screw
XS-555 02-1104 XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 53



ORANGE

3233 3235 3236 | 3237 3238
S-535-3 S-310-1 $-310-2 | S-420-1 S-420-2
Hot or Cold Hot Cold | Hot Cold
MUELLER HARCRAFT ELK
=
= = =
14 01-4064 14 01-4064 14 01-4064
Ikl
0 Bibb Washer Bibb Screw 00 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw
02-1102 XS-553 02-1100 XS-553 02-1104 XS-553
3251 3252 | 3261 3262 | 3265 3266
S-524-1 @ S-524-2 | S-525-1 @ S$-525-2 | S-315-1 @ S-315-2
Hot Cold | Hot Cold | Hot Cold
AMERICAN STANDARD AMERICAFI;I STANDARD AMERICAN STANDARD
enu
= = =
= = =
14 01-4067 14 01-4067 14 01-4067
Seat # 21 O-Ring Bushing Seat # 31 O-Ring 1/4 Bibb Washer Seat 0 Bibb Washer Bibb Screw
X-50 02-1504 AS855-17 X-50 02-1522 02-1104 X-2 02-1102 XS-555
Bibb Washer Bibb Screw
02-1794 XS-555
$-38 LARSEN SUPPLY CO., INC. E¥ll WSCO FAUCET REPAIR




3271 3272 | 3281 3282 | 3301 3302
S-401-1 @ S-401-2 | S-503-1 @ S$-503-2 | S-437-1 @ S-437-2
Hot Cold | Hot Cold | Hot Cold
AMERICAN STANDARD AMERICAN STANDARD STERLING
= = = &
12 01-4067 14 01-4067 $-104-1 12 01-4056 03-1749
S-104-2
m SRS-3340-1
Seat 0 Bibb Washer Bibb Screw 0 Bibb Washer Bibb Screw Seat # 16 O-Ring # 38 Stem Washer
X-58 02-1102 XS-553 02-1102 X$-553 X-26 02-1520 02-1844 (Nylon)
1/4 Bibb Washer Bibb Screw
02-1104 XS8-555
3305 3307 | 3311 3312 | 3315 3316
S-415-1 @ S-415-2 | S-416-1 @ S-416-2 | S-433-1 {ﬁ} S-433-2
Hot Cold | Hot Cold | Hot Cold
STERLING STERLING STERLING
2 = =
12 01-4p56 12 = 01-40%6 12 01-4056
1/4 Bibb Washer Bibb Screw Seat 00 Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw
02-1104 - X-26 02-1100 XS-558 X-26 02-1104 XS-555

03/28/00

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5%



ORANGE
3317 3318 | 3321 3322 | 3325 3326
S-514-1 {ﬁ} S-514-2 | S-300-1 {ﬁ} $-300-2 | S-502-1 {ﬁ} S-502-2
Hot Cold | Hot Cold | Hot Cold
STERLING AMERICAN KITCHEN AMERICAN KITCHEN
§ =
= = =
12 01-4056 12 01-4056 82 01-4056
Seat Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw
X-26 02-1106 XS-555 X-58 02-1104 XS-555 X-58 02-1104 XS-555
3327 3328 | 3351 3352 | 3355 3356
S$-537-1 {ﬁ} S$-537-2 | S-413-1 {E} S-413-2 | S-407-1 {E} S-407-2
Hot Cold | Hot Cold | Hot Cold
DISHMASTER SAYCO GERBER
=
= = (0 S =
12 01-4056 HC-57MB 82 01-4075 HL-101 14 01-4075
Seat # 22 O-Ring Seat # 35 Stem Washer 00 Bibb Washer Seat 0 Bibb Washer Bibb Screw
X-213 02-1506 X-42 02-1842 (Nylon) 02-1100 X-61 02-1102 XS-55
Bibb Screw
XS-555
S-40 LARSEN SUPPLY CO,, INC. FAUCET REPAIR




3361 3362 | 3365
S-408-1 {E} S-408-2 | S-530-1
Hot Cold | Hot
GERBER
]
14 01-4075
W’
Seat 0 Bibb Washer Bibb Screw Bibb Washer
X-61 02-1102 XS-553 02-1106
3405 3406 | 3411
S-509-1 (I'D S-509-2 | S-620-1
Hot Cold | Hot
ELJER
g
(Y )
HC-295 10-24 01-4087 HC-290
HC-291
Seat # 10 Packing Stem Washer Seat
X-29 02-1722 02-1550 X-29

1/4 Bibb Washer Bibb Screw
02-1104 XS-555

1/4 Bibb Washer
02-1104

3366 | 3401 3402

{E} S$-530-2 | S-419-1 (:I‘D S-419-2
Cold | Hot Cold
GERBER ELJER
@ @
(V-
10-24 01-4075 ng:gg? 10-24 01-4087
Bibb Screw Seat # H Packing # 35 Stem Washer
XS-553 X-29 02-1706 02-1842 (Nylon)
1/4 Bibb Washer Bibb Screw
02-1104 XS-555
3412 | 3415 3416
CI'D S-620-2 | S-528-1 @ S-528-2
Cold | Hot Cold
ELJER KOHLER
¥ & 0¥ &
B S
10-24 01-4087 HC-278 8-32 01-4087
2 13/16"

(NOT ACTUAL SIZE)

# 11 Packing # 49 O-Ring Seat # 16 O-Ring # 28 Gland Washer
02-1724 02-1550 X-210 02-1520 02-1838 (Nylon)
Bibb Screw 00 Bibb Washer Bibb Screw
XS-553 02-1100 XS-555

FAUCET REPAIR 15cO R LARSEN SUPPLY GO NG54



ORANGE

3417 3418 | 3421 3422 | 3425 3426
S-720-1 €H} S$-720-2 | S-527-1 @ S$-527-2 | S-3111 {I‘I} S$-311-2
Hot Cold | Hot Cold | Hot Cold
KOHLER CENTRAL BRASS DICK BROTHERS
Super Seat
Sl (R N &
L] = U %
HC-278 8-32 01-4087 HC-276 10-32 01-4087 10-24 01-4087
HC-279
(I
2 15/16"
'T‘
f u—
o
(NOT ACTUAL SIZE)
Seat # 16 O-Ring # 30 O-Ring # 16 O-Ring 0 Bibb Washer Bibb Screw Seat 00 Bibb Washer Bibb Screw
X-210 02-1520 02-1562 02-1520 02-1102 XS-555 X-39 02-1100 XS-555
0 Bibb Washer Bibb Screw
02-1102 XS-555
3427 3428 | 3431 3432 | 3435 3436
S-313-1 {E S$-313-2 | S-412-1 {:I‘D S-412-2 | S-421-1 {H} S-421-2
Hot Cold | Hot Cold | Hot Cold
CENTRAL BRASS REPCAL AMERICAN STANDARD
= =
= s =
12 01-4087 82 01-4087 14 01-4087
i
Seat 0 Bibb Washer Bibb Screw Bibb Washer Bibb Screw Seat 0 Bibb Washer Bibb Screw
X-32 2-1102 XS-555 02-1108 XS-553 X-8 02-1102 XS-555
LASCO FAUCET REPAIR

5-42 LARSEN SUPPLY CO., INC. IS




3441 3442 | 3445 3446 | 3447 3448
S-504-1 {E S-504-2 | S-512-1 {E S$-512-2 | S-623-1 @ S-623-2
Hot Cold | Hot Cold | Hot Cold
AMERICAN STANDARD SCHIABLE / YOUNGSTOWN AMERICAN STANDARD
= = =
82 01-4087 82 01-4087 14 01-4087
E
—
il (I
2 13/16"
(NOT ACTUAL SIZE)
Seat 0 Bibb Washer Bibb Screw Seat 0 Bibb Washer Bibb Screw Seat 0 Bibb Washer Bibb Screw
X-8 02-1102 XS-555 X-8 02-1102 XS-555 X-1 02-1102 XS-553
3501 3502 | 3511 3512 | 3531 3532
S-430-1 {I} S-430-2 | S-521-1 {I} S-521-2 | S-306-1 {I} S-306-2
Hot Cold | Hot Cold | Hot Cold
KOHLER KOHLER KOHLER
=3 =3 =
(L) = e (L) S e =
HC-350 8-32 01-4060 K022947 HC-350 8-32 01-4060 KO22947 8-32 01-4060
HC-351 KO22948 HC-351 KO22948
I
§§'L
N
e Q
E‘\ —]
Repair Kit Seat # 19 O-Ring Repair Kit Seat # 19 O-Ring Seat 0 Bibb Washer Bibb Screw
0-4071 X-66 02-1514 0-4071 X-66 02-1514 X-5 02-1102 -
0 Bibb Washer Bibb Screw 0 Bibb Washer Bibb Screw
02-1102 XS-5. 02-1102 XS-555

FAUCET REPAIR 5CO BN LARSEN SUPPLY COLING. 555



ORANGE
3535 3536 | 3541 3542 | 3545 3546

S-316-1 {I} S-316-2 | S-409-1 {I} S$-409-2 | S-410-1 {I} S-410-2
Hot Cold | Hot Cold | Hot Cold

KOHLER KOHLER KOHLER

0

@)

0

O

0
o0

@
&
R

01-4060 8-32 01-4060 01-4060

@
&
I}

L
Seat 0 Bibb Washer Bibb Screw Seat 00 Bibb Washer Bibb Screw Seat 00 Bibb Washer Bibb Screw
- 02-1102 XS-555 X-5 02-1100 XS-555 X-6 02-1100 XS-555
3547 3548 | 3551 3552 | 3571 3572
S-510-1 {I} S$-510-2 | S-520-1 {I} S-520-2 | S-301-1 {1} S-301-2
Hot Cold | Hot Cold | Hot Cold
KOHLER CALCO AMERICAN STANDARD
¥ o
- - .
= [} = =
8-32 01-4060 $-109-1 10-24 01-4060 10-24 01-4062
$-109-2
|
00 Bibb Washer Bibb Screw Bibb Washer Bibb Screw Seat # 15 Packing 00 Bibb Washer
02-1100 - 02-1106 XS-553 X-1 02-1728 02-1100

Bibb Screw
XS-553

LASCO FAUCET REPAIR

S-44 LARSEN SUPPLY CO., INC. |8



3581 3582 | 3591 3592 | 3595 3596

S-440-1 {1} S-440-2 | S-432-1 {M‘:} S-432-2 | S-531-1 {M‘:} S-531-2
Hot Cold | Hot Cold | Hot Cold

AMERICAN STANDARD T & S BRASS T & S BRASS
10-24 01-4062 HL-32 10-24 01-4072 HL-32 10-32 01-4072 Sﬁ1
S$-110-2
0 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw
02-1102 XS-553 02-1104 XS-553 02-1104 XS-555
3597 3598 | 3611 3612 | 3613 3614
S-533-1 {:M:} S-533-2 | S-601-1 {N‘:} S-601-2 | S-601-1C {N‘:} S-601-2C
Hot Cold | Hot Cold | Hot Cold
T & S BRASS CHICAGO CHICAGO
CERAMIC
= | ¥ S =
HL-32 12 01-4072 HL-33 14 01-4085 HL-33 14 01-4085
2 34" ——
(NOT ACTUAL EE)
Bibb Washer Bibb Screw Repair Kit Seat Retainer
02-1108 XS-555 0-1003 CH1-27 CH1-22
NU Repair Kit Packing Seat Washer
0-1011 02-2370 02-1764

Stem Nut
CH1-18

FAUCET REPAIR LASCO g LARSEN SUPPLY CO., INC.




ORANGE

3615 3616 | 3619 3651 3652
S-602-1 {N‘:} S-602-2 | S-526-3 {N‘:} S-304-1 {Q‘:} S-304-2
Hot Cold | Hot or Cold Hot Cold
CHICAGO ACORN BRIGGS
@
1] S =
HL-33 10-24 01-4085 8-32 01-4076
Repair Kit Seat Retainer Seat 00 Bibb Washer Bibb Screw
0-1003 CH1-27 CH1-22 X-17 02-1100 XS-555
Stem Nut Packing Seat Washer
CH1-18 02-2370 02-1764
3655 3656 | 3657 3658 | 3661 3662
S-428-1 {Q‘:} S-428-2 | S-506-1 {Q‘:} S-506-2 | S-507-1 {Q‘:} S-507-2
Hot Cold | Hot Cold | Hot Cold
BELVEDERE BRIGGS BRIGGS
= ¥ o =
= = =
14 01-4076 82 01-4076 12 01-4076
1
Seat # 15 O-Ring # 2 Dome Packing Seat 0 Bibb Washer Bibb Screw Seat 0 Bibb Washer Bibb Screw
X-39 02-1520 02-2352 X-17 02-1102 XS-555 X-17L 02-1102
Bil:)l;_\?{laos;\er Bibb Screw

1 5o FAUCET REPAIR




3665 3666 | 3667 3668 | 3701 3702
S-508-1 {Q‘:} S-508-2 | S-529-1 {Q‘:} S-529-2 | S-423-1 @ S-423-2
Hot Cold | Hot Cold | Hot Cold
BRIGGS BRIGGS UNIVERSAL - RUNDLE /
SEARS / ELKAY
W ¢ O g
¥ & (@S
10-2: 01-4076 ng:};g 10-28 01-4076 10-24 01-4082
v
Seat 1/4 Bibb Washer Bibb Screw Seat # 16 O-Ring # 35 Stem Washer | # 16 O-Ring (Internal) # 15 O-Ring (Bottom)
X-18 02-1104 XS-556 X-17 02-1520 02-1842 (Nylon) 02-1520 02-1534
00 Bibb Washer Repair Kit Bibb Screw Bibb Washer # 31 O-Ring (Top) Bibb Screw
02-1100 0-2001 X8-556 02-1102 02-1522 X8-553
3711 3712 | 3715 3716 | 3801 3802
S-434-1 @ S-434-2 | S-621-1 @ S-621-2 | S-462-1 S-462-2
Hot Cold | Hot Cold | Hot Cold
Cartridge Cartridge

UNIVERSAL RUNDLE/

%

01-4082

(I

0 Bibb Washer
02-1102

Seat

Bibb Screw
X-40 XS-555

9/8/98

FAUCET REPAIR LASCO

UNIVERSAL - RUNDLE /
SEARS

=

01-4082

(i

Seat

Bibb Screw
X-40 XS-553

1/4 Bibb Washer
02-1104

g LARSEN SUPPLY CO., INC.

ARTISTIC BRASS

Ceramic

A
=




3805

S-444-3
Hot or Cold
Cartridge
GROHE
OEM # 45.140
Ceramic
01-4095

# 40 O-Ring

02-1538
3821 3822
S-417-1 S-417-2
Hot Cold
Cartridge Cartridge

KOHLER / STERLING
OEM # 30430
Ceramic

KO-78125
Spline Adapter

# 4 O-Ring (Internal) # 37 O-Ring (External)
02-1628 02-1580

Bibb Screw
XS-

S-48

LARSEN SUPPLY CO., INC.

3807

3808 | 3809
S-463-1 S-463-2 | S-538-3
Stidgn canad | Hotor coe
HARDEN BRASS PRICE PFISTER
Ceramic Log Lighter
(0000
(00
Bibb Washer Bibb Screw
02-1072 XS-553
3823 3824
S-168-1 S-168-2
Hot Cold
KOHLER
Ceramic
Cygnet
# 46 O-Ring
02-1558

FAUCET REPAIR



PURPLE

4101 4102 | 4113 4123
S-448-1 S-448-2 | S-606-3 S-540-3
Hot Cold | Hot or Cold Hot or Cold
PRICE PFISTER PRICE PFISTER PRICE PFISTER
@ @ e S
10-24 01-4052 10-24 01-4052 HC-253 10-24 01-4052 03-1623
J
—
I
# 16 O-Ring (Internal)  Repair Kit  # 40 O-Ring (External) Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring
02-1520 0-2075 02-1538 0-2015 X-24 02-1520 0-1197 X-216 02-1520
Seal # 28 Stem Washer 00 Bibb Washer Bibb Screw # 43 Stem Washer 00 Bibb Washer Bibb Screw
02-1784 02-1838 (Nylon) 02-1100 XS-553 02-1822 (Nylon) 02-1100 X

FAUCET REPAIR 5CO BN LARSEN SUPPLY COL NG 556



PURPLE

4134 4144 4153
S-726-4 S-730-4 S-728-3
Diverter Diverter Hot or Cold
MONTEREY BRASS PRICE PFISTER HARCRAFT
'] =R =
= = ]
14 01-4052 03-1623 HC-253 14 01-4052 03-1623 14 01-4064

Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring Repair Kit Seat # 24 Stem Washer
0-1199 X-216 02-1520 0-1199 X-216 02-1520 0-4001 X-74 02-1862 (Nylon)
# 48 Stem Washer 00 Bibb Washer Bibb Screw # 48 Stem Washer 00 Bibb Washer Bibb Screw # 16 O-Ring 00 Bibb Washer # 15 O-Ring
02-1824 (Fiber) 02-1100 XS-553 02-1824 (Fiber) 02-1100 XS- (Internal Top) 02-1100 (External Bottom)
Nylon Bibb # 31 Diverter Washer Nylon Bibb # 31 Diverter Washer 02-1520 Bibb Screw 021534

02-1752 02-1808 (Nylon) 02-1752 02-1808 (Nylon)

” LASCO FAUCET REPAIR

S-50 LARSEN SUPPLY CO., INC.




PURPLE

Hot or Cold Hot or Cold Hot or Cold
HC-86 10-2. 01-4064 03-1665
HC-87
| | 1
Repair Kit Seat # 24 Stem Washer #16 Stem Packing # 43 Stem Washer 3/8L Bibb Washer #16 Stem Packing # 43 Stem Washer 3/8L Bibb Washer
0-4001 X-74 02-1862 (Nylon) 2-1730 02-1822 (Nylon) 02-1112 -1730 02-1822 (Nylon) 02-1112
# 16 O-Ring 00 Bibb Washer # 15 O-Ring Bibb Screw Bibb Screw
(Internal Top) 02-1100 (External Bottom) XS-555 XS-555
02-1520 Bibb Screw 02-1534
XS-555

FAUCET REPAIR LARSEN SUPPLY CO., INC.




PURPLE

4201 4202 | 4203 4205
S-425-1 @ S-425-2 | S-425-3 @ S-600-3 @
Hot Cold | Hot or Cold Hot or Cold
AMERICAN STANDARD AMERICAN STANDARD AMERICAN STANDARD
Double Acme Single Acme

v &

01-4067

° (((((((I

TS Bk

10-24 01-4067 S- 3%% ; 01-4067 S-323-3

3/8 Bibb Washer Bibb Screw 3/8 Bibb Washer 3/8 Bibb Washer Seat 0 Bibb Washer Bibb Screw
02-1110 XS-553 02-1110 02-1110 X 02-1102 XS-553

FAUCET REPAIR

S-52 LARSEN SUPPLY CO., INC.



PURPLE

4207 4208 | 4211 4212 | 4221 4222
S-701-1 @ S-701-2 | S-718-1 @ S-718-2 | S-719-1 @ S-719-2
Hot Cold | Hot Cold | Hot Cold
AMERICAN STANDARD AMERICAN STANDARD AMERICAN STANDARD
=
= = =
14 01-4067 S-104-1 14 01-4067 14 01-4067
S-104-2
it
AN,
0 Bibb Washer Bibb Screw Seat # 31 O-Ring 0 Bibb Washer Seat # 21 O-Ring Washer
2-1102 X-50 02-1522 02-1102 X-50 02-1504 02-1794

Bibb Screw
XS-555

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 555



PURPLE

4251 4252 | 4261 4262 | 4271 4272
S-532-1 {ﬁ} S-532-2 | S-721-1 {ﬁ} S-721-2 | S-609-1 {ﬁ} S-609-2
Hot Cold | Hot Cold | Hot Cold
STERLING STERLING SCHIABLE
T 3
14 01-4056 HL-88 82 01-4056 82 01-4056
Seat 1/4 Bibb Washer Bibb Screw Seat # 16 O-Ring # 38 Stem Washer Seat Bibb Washer Bibb Screw
X-26 02-1104 XS- X-26 02-1520 02-1844 (Nylon) X-58 02-1106 XS-555
0 Bibb Washer Bibb Screw
02-1102
S-54 LARSEN SUPPLY CO,, INC.

LASCO FAUCET REPAIR



PURPLE

4301 4303 4304
S-702-3 {G‘:} S-703-3 {G‘:} S-613-4 {G‘:}
Hot or Cold Hot or Cold Diverter
20 Thread
PHOENIX /| STREAMWAY STREAMWAY STREAMWAY
Tub & Shower
14 01-4080 HC-137 14 01-4080 HC:1 37 82 01-4080
HC-138 HC-138
.®
03-1617 03-1617
1
r
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring # 16 O-Ring # 38 Stem Washer
0-2001 X-77 02-1520 0-2001 X-77 02-1520 02-1520 02-1844 (Nylon)
# 35 Stem Washer 00 Bibb Washer Bibb Screw # 35 Stem Washer 00 Bibb Washer Bibb Screw
02-1842 (Nylon) 02-1100 XS-555 02-1842 (Nylon) 02-1100 X

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 550



PURPLE

4306 4308 4309
S-611-4 {Q‘:} S-612-4 {Q‘:} S-614-4 {Q‘:}
Diverter Diverter Diverter
STREAMWAY PHOENIX MOEN
01-4080 HC-133 01-4080
| i |
5 j—

‘\ } @ — Brass

# 13 O-Ring Packing Nut # 13 O-Ring Packing Nut # 13 O-Ring Packing Nut
02-1404 RV41B-1 02-1404 RV41B-1 02-1404 RV41B-1

02/23/05

LARSEN SUPPLY CO., INC. FAUCET REPAIR




PURPLE

4341 4342 | 4351 4352 | 4363
S-722-1 {E S-722-2 | S-708-1 {I} S-708-2 | S-723-3 {M‘:}
Hot Cold | Hot Cold | Hot or Cold
ELJER KOHLER SPEAKMAN / KENT

i

8l = = e

HC-293 14 01-4087 82 01-4060 82 01-4072

e

Seat # 11 Stem Packing # 49 O-Ring Seat 0 Bibb Washer Bibb Screw Seat 0 Bibb Washer Bibb Screw
X-29 02-1724 02-1550 X-6 02-1102 XS-555 X-45 02-1102
1/4 Bibb Washer Bibb Screw
02-1104

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 55



PURPLE

4371 4372 | 4403 4404 | 4411 4412
S-705-1 {N‘:} S-705-2 | S-717-3 {Q‘:} S-717-2 | S-713-1 {Q‘:} S-713-2
Hot Cold | Hot or Cold Cold LH | Hot Cold
CHICAGO INDIANA BRASS UNION GOPHER
& @, @
Y 2 S kY 2 e
HL-33 10-24 01-4085 HC-ZB“1 10-24 01-4076 03-1659 HC-28“1 10-24 01-4076 03-1757

[

Repair Kit Seat Stem Packing Repair Kit Seat # 16 O-Ring Repair Kit Seat # 16 O-Ring
0-1003 CH1-27 02-2370 0-4107 X-218 02-1520 0-406 X-217 02-1520
Retainer Stem Nut Seat Washer # 48 O-Ring 1/4 Bibb Washer Bibb Screw # 35 Stem Washer  1/4 Bibb Washer Bibb Screw

CH1-22 CH1-18 02-1764 02-1532 02-1104 XS-553 02-1842 (Nylon) 02-1104 X
10/16/06
§-58 LARSEN SUPPLY CO., INC. FAUCET REPAIR




PURPLE

4423 4443

4451 4452
S-969-3 @ S-716-3 S-714-1 @ S-714-2
Hot or Cold Hot or Cold Hot Cold
TOWN & COUNTRY MILWAUKEE UNIVERSAL - RUNDLE
Shower Shower

(o

eSO 8

HC-281 10-24 01-4076 03-1609 01-4082

(o

10-24 01-4082

g

# 16 O-Ring # 35 Stem Washer Seat Seat 0 Bibb Washer Bibb Screw
02-1520 02-1842 (Nylon) X-231 X-40 02-1102

11/13/09

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 55



PURPLE

4461 4462 | 4473 4608

S-716-1 @ S-716-2 | S-725-3 @ S-736-3

Hot Cold | Hot or Cold Hot or Cold

UNIVERSAL - RUNDLE / UNIVERSAL - RUNDLE DELTA
SEARS Self Ciosing Faucet
G O
= = fonImm

10-24 01-4082 10-24 01-4082 03-1613

SN
!

[_E'J
=
—
L1
P—

=D

—J

? - -r.::-r

e

# 31 O-Ring (Top) 1/4 Bibb Washer # 18 O-Ring (Internal) # 3 Dome Packing
02-1522 02-1104 02-1556 02-2354

Brass Washer # 16 Stem Washer # 37 O-Ring
02-1662 02-1668 (Fiber) 02-1580
Bibb Screw 1/4 Bibb Washer Bibb Screw
XS-5 02-1104

S-60 LARSEN SUPPLY CO., INC.

LASCO FAUCET REPAIR



PURPLE

4671 4672 | 4701 4702 | 4723
S-545-1 S-545-2 | S-546-1 S-546-2 | S-732-3
Hot Cold | Hot Cold | Hot or Cold
BROADWAY HARDEN BRASS GROHE
Wide Spread Wide Spread Tub & Shower
Ceramic

Hll

l

# 37 O-Ring # 31 O-Ring (Top) # 18 O-Ring (Bottom) | # 21 O-Ring (Internal) # 40 O-Ring (External)
02-1580 02-1522 02-1556 02-1504 02-1538

03/11/03

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 551



PURPLE

4801 4802 | 4803 4804 | 4805 4806
S-603-1 @ S$-603-2 | S-615-1 S$-615-2 | S-625-1 S-625-2
Hot Cold | Hot Cold | Hot Cold
CRANE CRANE CRANE
Hospital Stem Only
@
]
82
O
@)
# 20 O-Ring # 39 Cork Gasket Seat # 20 O-Ring Fiber Disc # 39 Cork Gasket # 20 O-Ring Fiber Disc # 39 Cork Gasket
02-1530 02-1760 02-1756 02-1530 02-1758 02-1760 02-1530 02-1758 02-1760
Seat Washer Seat Washer
02-1756 02-1756

LARSEN SUPPLY CO., INC.

FAUCET REPAIR



PURPLE

4811 4812
S-619-1 S-619-2

Hot Cold

WATER SAVER

««(«i@

8-32

1/4 Bibb Washer Bibb Screw
02-1104 -

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 555



=
3
<
>
S
X




BLUE

5001 5002 | 5042 5043 | 5053
S-818-1 {B} S-818-2 | S-804-2 ‘ S-804-3 | S-805-3
Hot Cold Eg‘ll(:r only ﬁ Hot or Cold | Hot or Cold &
MICHIGAN PRICE PFISTER PRICE PFISTER
Princess Stem Only
P 8ol § 8 Sl S
= ais = ain =
10-24 01-4074 03-1649 HC-48 10-24 01-4052 03-1651 HC-48 10-24 01-4052 03-1651
HC-49 HC-49

AR RN

{

# 16 O-Ring # 24 O-Ring 0 Bibb Washer Repair Kit Seat # 43 Stem Washer Repair Kit Seat # 43 Stem Washer
02-1102 0-2009 0-2009

02-1520 02-1548 X-23 02-1822 (Nylon) X-23 02-1822 (Nylon)
Seat Bibb Screw # 1 Packing 3/8L Bibb Washer Bibb Screw # 1 Packing 3/8L Bibb Washer Bibb Screw
X-125 XS-555 02-1710 02-1112 XS-553 02-1710 02-1112 XS-553

9/02/09

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 550



BLUE

5064 5074 5084

S-806-4 S-807-4 S-832-3

Diverter Diverter Hot or Cold

PRICE PFISTER PRICE PFISTER PRICE PFISTER
Stem Only Ceramic
O O @ @
& =
HL-46 10-24 01-4052 03-1651 HL-46 10-24 01-4052 03-1651

m 11

2

[« > ]

& > 4

D < > ]

[ « > ]

S —
—
Y
Repair Kit Seat # 48 Stem Washer Repair Kit Seat # 48 Stem Washer Seal Stop
0-2013 X-23 02-1824 (Fiber) - X-23 02-1824 (Fiber) 02-7510 02-7512
# 50 Diverter Washer # 1 Packing 3/8L Bibb Washer # 31 Diverter Washer # 1 Packing 3/8L Bibb Washer
02-1820 (Nylon) 02-1710 02-1112 02-1808 (Nylon) 02-1710 02-1112

Bibb Screw Bibb Screw
XS-5 -

9/15/98

$-66 LARSEN SUPPLY CO., INC. FAUCET REPAIR




BLUE

5093 5097 5098 5099
S-904-3 S-820-3 S$-906-1 S-906-2
Hot or Cold Hot or Cold Hot Cold
PRICE PFISTER PRICE PFISTER PRICE PFISTER
[©)
= ® @ G
J U \ ] ] =
ﬁ&ﬂﬁ 14 01-4052 03-1623 14 01-4052 14 01-4052
HC-108
5 \
\‘\'
x\:: 4
N,
t ]
Repair Kit Seat # 16 O-Ring # 3 Dome Packing # 6 Brass Washer # 16 Stem Washer Seat 00 Bibb Washer Bibb Screw
- X-24 02-1520 02-2354 02-1662 02-1668 (Fiber) X-24 02-1100 XS-553
# 28 Stem Washer 00 Bibb Washer Bibb Screw 1/4L Bibb Washer Bibb Screw
02-1838 (Nylon) 02-1100 XS-553 02-1106 XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 55



BLUE
5113 5114

5115 5116
S$-905-3 S-931-4 S-816-1 S-816-2
Hot or Cold Diverter Hot Cold
HARCRAFT HARCRAFT HARCRAFT
= L CEpT
= = =
ﬂgg? 14 01-4064 03-1665 14 01-4064 03-1667 12 01-4064

L
# 16 O-Ring (Internal)  Repair Kit  # 18 O-Ring (External) | # 15 O-Ring (Internal) # 21 O-Ring (External) 00 Bibb Washer Bibb Screw
02-1520 0-4001 02-1556 02-1534 02-1504 02-1100
Seat # 24 Stem Washer 00 Bibb Washer 1/4 Bibb Washer Bibb Screw
X-74 02-1862 (Nylon) 02-1100 02-1104

Bibb Screw
XS-553

S-68 LARSEN SUPPLY CO., INC.

FAUCET REPAIR



BLUE

5117 5118 | 5123 5124

S-943-1 S-943-2 | S-910-3 S-911-4
Hot Cold | Hot or Cold Diverter

HARCRAFT HARCRAFT HARCRAFT
@ iG> @
o o g
14 01-4064 HC-86 14 01-4064 03-1667 14 01-4064 03-1667
HC-87
¥ E J
0 Bibb Washer Bibb Screw # 16 O-Ring (Internal)  Repair Kit  # 18 O-Ring (External) # 18 O-Ring
02-1102 XS-553 02-1520 0-4001 02-1556 02-1556

Seat 00 Bibb Washer Bibb Screw
X-74 02-1102 X

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 55



BLUE

5125 5126 | 5133 5135
S-944-1 S-944-2 | S-819-3 S-824-3
Hot Cold | Hot or Cold Hot or Cold
HARCRAFT MUELLER MUELLER
® 0 @ Sz @
= 2N = 2N =
10-24 01-4064 HC-61 10-24 01-4052 HC-61 10-24 01-4052

00 Bibb Washer Bibb Screw # 1 Packing # 6 Brass Washer # 16 Stem Washer Seat # 6 Brass Washer  # 9 Stem Washer
02-1100 XS-5. 02-1710 02-1662 02-1668 (Fiber) X-1 02-1662 02-1670 (Fiber)
3/8L Bibb Washer Bibb Screw # 1 Packing 3/8L Bibb Washer Bibb Screw
02-1112 XS-553 02-1710 02-1112 X

LARSEN SUPPLY CO., INC.

LASCO FAUCET REPAIR



BLUE

5137 5138 | 5139 5143
S-825-1 S-825-2 | S-952-3 S-946-3
Hot Cold | Hot or Cold Hot or Cold
BLOCK BRASS G.0.K. BRASS REPCAL
W/ Bushing

=7 B R>XT cy§ 2 &

HC-160 10-24 01-4052 03-1673
HC-161

(@
(@

(
@

I

# 10 Packing # 43 O-Ring 1/4L Bibb Washer # 3 Dome Packing # 6 Brass Washer # 16 Stem Washer Repair Kit Seat # 20 Packing
02-1722 02-1576 02-1106 02-2354 02-1662 02-1668 (Fiber) 0-4065 X-10 02-1736
Bibb Screw 1/4L Bibb Washer Bibb Screw # 6 Brass Washer  1/4 Bibb Washer Bibb Screw
XS-5! 02-1106 XS-555 02-1662 02-1102 X

LARSEN SUPPLY CO., INC

FAUCET REPAIR LASCO §




BLUE

5144 5145 5147
S-915-4 S-914-3 S-947-3
Diverter Hot or Cold Hot or Cold
REPCAL REPCAL REPCAL
Nylon

- & = @ = @ =

e Sy ¢ Sy § =
HL-42 8-32 01-4052 03-1673 HC-160 10-24 01-4052 03-1673 HC-160 10-24 01-4052 03-1673
HC-161 HC-161
0 Bibb Washer Bibb Screw Repair Kit Seat # 20 Packing # 6 Brass Washer 0 Bibb Washer Bibb Screw
02-1102 XS-553 0-4065 X-10 02-1736 02-1662 02-1102 -
# 6 Brass Washer 0 Bibb Washer Bibb Screw
02-1662 02-1102 -

S-72 LARSEN SUPPLY CO,, INC. FAUCET REPAIR




BLUE
5157 5158

5154 5155
S-964-4 S-912-3 S$-913-1 S-913-2
Diverter Hot or Cold Hot Cold
CRANE REPCAL REPCAL
Rivera
@ = & @ 3 @
] . / ) ] / ) ]
= —> = =
10-24 01-4052 03-1673 HC-160 8-32 01-4064 HC-160 8-32 01-4064
HC-161 HC-161
# 16 O-Ring Stem Washer 1/4L Bibb Washer Seat 1/4L Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw
02-1520 02-1588 02-1106 X-19 02-1106 XS-55 X-19 02-1104 XS-555

Bibb Screw
XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 575



BLUE

5159 5183 5184
S-822-3 S-817-3 @ S-961-4 @
Hot or Cold Hot or Cold Diverter
CENTRAL BRASS AMERICAN STANDARD AMERICAN STANDARD
= = OE v &
12 01-4087 ngmg 14 01-4064 03-1681 HC-206MB 14 01-4067 03-1641
03-1683

Ml

N

NN

N

N

%
é_

SN

—

i
SN

NN

——

ll
. \\\/;

QN

—
—

Seat # 1 Packing # 6 Brass Washer # 1 Packing # 6 Brass Washer 0 Bibb Washer # 16 O-Ring (Internal) Seat # 28 O-Ring (External)
X-27 02-1710 02-1662 02-1710 02-1662 02-1102 02-1520 X-2 02-1516
# 16 Stem Washer 1/4L Bibb Washer Bibb Screw Bibb Screw # 49 Stem Washer 0 Bibb Washer Bibb Screw
02-1668 (Fiber) 02-1106 XS-553 XS-555 02-1550 02-1102 -
574 LARSEN SUPPLY CO., INC. FAUCET REPAIR




BLUE

5201 5202 | 5205 5206 | 5207 5208
S-809-1 {ﬁ} S-809-2 | S-942-1 {ﬁ} S$-942-2 | S-810-1 {ﬁ} S-810-2
Hot Cold | Hot Cold | Hot Cold
SCHIABLE SCHIABLE STERLING
] = v
= = =
82 01-4056 10-24 01-4056 10-32 01-4056
L
Seat 0 Bibb Washer Bibb Screw 0 Bibb Washer Bibb Screw Seat 1/4 Bibb Washer Bibb Screw
X-58 02-1102 XS-553 02-1102 XS-555 X-26 02-1104 XS-553

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC.



BLUE

5213 5221 5222
S-940-3 S-734-3 S-730-3
Hot or Cold Hot or Cold Hot or Cold
STERLING STERLING STERLING
Shower
New Style
) 1 S T, $) ey
L i & i i & i
ng:}jlg 10-32 01-4056 03-1609 HC-116 10-24 01-4056 HC-90 HC-116 10-24 01-4056 HC-90
—> )
C W
SRA-8135 03-1659 03-1739
Seat # 19 O-Ring # 38 Stem Washer # 8 Packing # 36 O-Ring 00 Bibb Washer Seat # 36 O-Ring 00 Bibb Washer
X-26 02-1514 02-1844 (Fiber) 02-1680 (Molded) 02-1632 02-1100 X-26 02-1632 02-1100
1/4 Bibb Washer Bibb Screw Bibb Screw Bibb Screw
02-1104 XS-5. X8-555

S-76 LARSEN SUPPLY CO., INC.




BLUE

5223 5233 5234
S$-924-3 {ﬁ} S-925-4 {ﬁ} S-919-4 {ﬁ}
Hot or Cold Diverter Diverter
STERLING STERLING STERLING
Shower
New Style
@ @ @
s = | = W
10-32 01-4056 10-32 01-4056 03-1671 HL-10 10-32 01-4056 03-1659
=
C @
03-1617 03-1669 03-1617 03-1653
C @
03-1655

o

A

Repair Kit Seat # 43 Stem Washer Repair Kit Seat # 1 Packing # 22 O-Ring (Internal) Seat # 37 O-Ring (External)
0-4055 X-26 02-1822 (Nylon) 0-4081 X-26 02-1710 02-1508 X-26 02-1580
# 10 Packing 1/4L Bibb Washer Bibb Screw Diverter Washer  1/4L Bibb Washer Bibb Screw Diverter Bushing  1/4L Bibb Washer Bibb Screw
02-1722 02-1106 XS-555 02-1898 02-1106 XS- SRS-3764 02-1106 X

05/24/01

FAUCET REPAIR 15co R LARSEN SUPPLY GOLING 577



BLUE

5253 5255 5256 | 5273
S$-937-3 {E} S-901-1 {E} S$-901-2 | S-907-3 {E}
Hot or Cold Hot Cold | Hot or Cold
GERBER GERBER SAYCO
L5 il ol G ©
z 1 S SV WY S W =
HC-153 10-24 01-4075 HC-233MB 10-24 01-4075 HC-69MB 8-32 01-4075 SA2025
HC-154
03-1755
Seat # 41 Stem Washer # 5 Packing Seat 3/8 Bibb Washer Bibb Screw Repair Kit Seat # 3 Packing
X-60 02-1806 (Fiber) 02-1708 X-61 02-1108 XS-555 0-4075 X-42 02-1786
1/4L Bibb Washer Bibb Screw # 35 Stem Washer 0 Bibb Washer Bibb Screw
02-1106 XS-553 02-1806 (Nylon) 02-1100 -
05/24/01
S-78 LARSEN SUPPLY CO,, INC. FAUCET REPAIR




BLUE

5283 5282 | 5284 5293

S-918-3 {E} S-918-2 | S-934-4 {E} S-948-3 {E}

Hot or Cold Cold LH || Diverter Hot or Cold

SAYCO SAYCO SAYCO

H PS8 OTSE0FSE

) B =) | ] B =y | () B s

HC-55MB 8-32 01-4075 HC-70MB HC-55MB 8-32 01-4075 HC-70MB HC-55MB 8-32 01-4075 HC-70MB
= O =0 —

03-1647 03-1645 03-1647 03-1645 03-1609 03-1645
03-1746 —_— 03-1746
03-1748

' | “ 03-1748

Repair Kit Seat # 2 Packing # 27 O-Ring (Top) Repair Kit # 15 O-Ring (Bottom) Seat # 41 Stem Washer # 5 Packing
0-4075 X-42 02-1702 02-1414 0-4075 02-1534 X-42 02-1806 (Fiber) 02-1708
Stem Washer 00 Bibb Washer Bibb Screw Seat Stem Washer # 3 Packing 1/4 Bibb Washer Bibb Screw
02-1562 (0-Ring) 02-1100 XS-555 X-42 02-1562 (0- Ring) 02-1786 02-1104
00 Bibb Washer Bibb Screw
02-1100 XS-555

05/27/04

FAUCET REPAIR LASCO g LARSEN SUPPLY CO., INC.




BLUE

5294 5303 5304
S-1064-4 {E} S-949-3 S-1063-4
Diverter Hot or Cold

Diverter

8-32 01-4075 HC-70MB HC-55MB 8-32 01-4075 HC-70MB HC-55MB 8-32

03-1609 03-1645 03-1609 03-1645 03-1609 03-1645
03-1746 03-1746 03-1746
) &
N~
Repair Kit Seat # 5 Packing Repair Kit Seat # 5 Packing Repair Kit Seat # 18 O-Ring
0-4091 X-42 02-1708 0-4075 X-42 02-1708 0-4093 X-42 02-1556
# 43 Stem Washer # 29 Diverter Washer 1/4L Bibb Washer # 35 Stem Washer 00 Bibb Washer Bibb Screw # 37 Stem Washer # 5 Packing 00 Bibb Washer
02-1822 (Nylon) 02-1870 (Fiber) 02-1106 02-1822 (Nylon) 02-1100 XS-555 02-1840 (Nylon) 02-1708 02-1100
Bibb Screw Bibb Screw
XS-555 XS-555

05/17/99

LASCO FAUCET REPAIR

S-80 LARSEN SUPPLY CO., INC.




BLUE

5313 5314 | 5351 5352 | 5363
S-812-1 {G‘:} S-812-2 | S-800-1 {E S-800-2 | S-953-3 CI'I}
Hot Cold | Hot Cold | Hot or Cold
AMERICAN BRASS AMERICAN STANDARD AMERICAN STANDARD
¥ e dh § &
(113 E ol
8-32 01-4068 03-1617 8-32 01-4087 HC-220 8-32 01-4087 HC-220AMB
HC-221
—
03-1677 03-1679
0
03-1663

N7 777777777 A
27

Repair Kit # 16 O-Ring # 35 Stem Washer Seat 0 Bibb Washer Bibb Screw Repair Kit Seat Packing
0-2001 02-1520 02-1842 (Nylon) X-8 02-1102 - 0-1043 X-8 02-1882
00 Bibb Washer Bibb Screw # 2 Brass Washer Wave Washer # 4 Stem Washer
02-1100 XS-553 02-1664 AS72852-07 02-1288 (Nylon)
0 Bibb Washer Bibb Screw
02-1102 XS-555

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 531



BLUE

5364
S-965-4

Diverter

E

AMERICAN STANDARD

=R

(@

HC-220AMB 8-32 01-4087 03-1663
/1
F |
1
1
1
%
Repair Kit # 21 O-Ring Packing
0-1043 02-1504 02-1882
# 4 Stem Washer Seat Disc Bibb Screw
02-1288 (Nylon) AS72840-07 XS-555

3/8L Bibb Washer
02-1112

LARSEN SUPPLY CO., INC.

5373 5374
S-821-3 S-960-4
Hot or Cold Diverter

ik

CENTRAL BRASS

B2 O

ik

CENTRAL BRASS

v 2O

[,

HC-273

0—
§

|

(@

(((««|@

i

10-32

01-4087 03-1609 HC-275 10-24 01-4087 03-1609
HC-274
a
4
I
2
(9
@
ZIRZ.
Z7.
/ ’
=%
< = |
5' lﬁ
N
]
e/
Seat # 43 Stem Washer # 11 Packing # 46 O-Ring # 7 Packing Diverter Washer
X-27 02-1822 (Nylon) 02-1724 02-1558 02-1720 02-1904

Bibb Screw 3/8M Bibb Washer Bibb Screw
XS-555 02-1110 XS-555

FAUCET REPAIR



BLUE

5383 5384 5387
S-813-3 {E S-1062-4 @ S-802-3 CI'I}
Hot or Cold Diverter Hot or Cold
ELJER ELJER ELJER
=1 & =1 & =1 &
WW’ = D EW‘ = “Wﬂ’ =
HC-293 10-24 01-4087 03-1659 HC-292 10-24 01-4087 03-1609 HC-293 10-24 01-4087 03-1609
HC-294 HC-294

Seat # 35 Stem Washer # 8 Packing # 48 Stem Washer # 10 Packing 3/8 Bibb Washer Seat # 50 Stem Washer # 1 Packing
X-28 02-1842 (Nylon) 02-1680 (Molded) 02-1824 (Fiber) 02-1722 02-1110 X-28 02-2564 02-1710

1/4 Bibb Washer Bibb Screw Bibb Screw 1/4L Bibb Washe Bibb Screw
02-1104 X8-555 02-1106 XS-555

02/20/08

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 555



BLUE

5393 5394 5401 5402
S-968-3 €H} S-968-2 S-966-4 @ S-823-1 {I‘D S-823-2
Hot Cold | Diverter Hot Cold
ELJER ELJER KOHLER / SHOREHAM
TSH < (NG Ol &
WW’ = o “m. = o | ([ B
HC-293 10-24 01-4087 03-1659 HC-292 10-24 01-4087 03-1659 HC-285MB 8-32 01-4087
HC-294
& =
03-1739 03-1649

Tra
73

T2 2T 2 22 22 7 T LT LT L 2L 2220 7

P D D ED GEP P i GED G SN SN G = G S S

Repair Kit Seat # 35 Stem Washer # 35 Stem Washer # 3 Packing Diverter Washer Repair Kit Seat # 16 O-Ring
0-4095 X-28 02-1842 (Nylon) 02-1842 (Nylon) 02-1786 02-1290 0-4083 X-210 02-1520
# 3 Packing 1/4 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw # 38 Stem Washer 0 Bibb Washer Bibb Screw
02-1786 02-1104 XS-555 02-1104 XS-555 02-1844 (Fiber) 02-1102

07/12/07

S-84 LARSEN SUPPLY CO., INC. LASCO FAUCET REPAIR




BLUE

5403 5404 | 5413 5414
S-829-1 S-829-2 | S-938-3 S-963-4
Hot Cold | Hot or Cold Diverter
KOHLER / SHOREHAM MILWAUKEE DICK BROTHERS
( )
= = () =
IIII S (@] S ((( =
HC-285MB 8-32 01-4087 03-1739 10-24 01-4087 03-1659 10-24 01-4087 03-1609
S-826-1 S-826-2
Hot Stem Cold Stem
Only Only
——
—_—
—_—
—
———
——
——
qﬁb
—————
—_—
p——————4
s
—
—_—————
—_—
>
==
Repair Kit Seat # 16 O-Ring Seat # 15 O-Ring # 28 Stem Washer # 48 Stem Washer # 5 Packing 1/4 Bibb Washer
0-4083 X-210 02-1520 X-231 02-1534 02-1838 (Nylon) 02-1824 (Fiber) 02-1708 02-1104
# 38 Stem Washer 0 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw Bibb Screw
02-1844 (Fiber) 02-1102 -555 02-1104 XS-553
Plastic Nipple
SRB-2163

05/18/04

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5%



BLUE

5415 5416 | 5417 5418 | 5421 5422
S-803-1 €D S-803-2 | S-770-1 {D S-770-2 | S-922-1 {M‘:} S-922-2
Hot Cold | Hot Cold | Hot Cold
KOHLER KOHLER SPEAKMAN
Diamond
‘@
/& SN i
T @ B = e
= - = ) S
8-32 01-4060 HC-193 8-32 01-4060 HC-352 10-24 01-4072
HC-193B HC-353

:]]]L]]]\ i

Seat 0 Bibb Washer Bibb Screw Seat # 19 O-Ring # F Brass Washer Seat 1/4L Bibb Washer Bibb Screw
X-5 02-1102 XS-55 X-66 02-1514 02-2306 X-34 02-1106 X
0 Bibb Washer
02-1102

03/10/99

S-86 LARSEN SUPPLY CO., INC. g LASCO FAUCET REPAIR

253



BLUE

5425 5451 5452 | 5461 5462
S-954-3 {M‘:} S-801-1 @ S-801-2 | S-951-1 {Q‘:} S-951-2
Hot or Cold Hot Cold | Hot Cold
SPEAKMAN BRIGGS BRIGGS
@ @ =y &
Q g ”'W’ ?
10-24 01-4072 03-1613 10-28 01-4076 ng:};g 8-32 01-4076 03-1657

g Smm——

# 56 O-Ring 1/2L Bibb Washer Bibb Screw Seat 00 Bibb Washer Bibb Screw Seat # 16 O-Ring # 38 Stem Washer
02-1546 02-1116 XS- X-17 02-1100 XS-553 X-220 02-1520 02-1844 (Fiber)
3/8L Bibb Washer Bibb Screw
02-1112

03/10/99

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 537



BLUE

5463 5471 5472 | 5473
S-950-3 {Q‘:} S-956-1 {Q‘:} S-956-2 | S-945-3 {Q‘:}
Hot or Cold Hot Cold | Hot or Cold
BélgGS BRIGGS BRIGGS
ose
] & ] & @
) % o) %
ng};g 14 01-4076 03-1609 ng};g 14 01-4076 03-1609 18 01-4076
C_®
03-1657
mm |
1] u

2 N
# 8 O-Ring # 38 Stem Washer Bibb Washer Seat # 9 Packing # 48 Stem Washer 0 Bibb Washer Bibb Screw
02-1508 02-1844 (Fiber) 02-1792 X-18 02-1718 02-1824 (Fiber) 02-1102 XS-553
3/8L Bibb Washer Bibb Screw
02-1112 XS-555

S-88 LARSEN SUPPLY CO., INC.

¥ Lsco FAUCET REPAIR




BLUE

5477 5494 5504
S-957-3 {Q‘:} S-962-4 {Q‘:} S-928-4 @
Hot or Cold Diverter Diverter
BRIGGS INDIANA BRASS UNION BRASS
=J & SSENG @ 2
W e 8Os S
14 01-4076 03-1609 03-1659 14 01-4076 03-1609 14 01-4115

03-1657
A
A
! |
! i
J i
|
pof ipulynipadiuaten
-4 '
| [ |
1
Seat # 2 Packing # 38 Stem Washer # 46 O-Ring (Top) Seat # 38 O-Ring (Bottom) # 38 O-Ring
X-17L 02-1702 02-1844 (Fiber) 02-1558 X-36 02-1518 02-1518
3/8L Bibb Washer Bibb Screw # 16 O-Ring (Internal)  3/8L Bibb Washer Bibb Screw
02-1112 XS-553 02-1520 02-1112 XS-

07/21/04

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC




BLUE

5523 5603 5604
S$-929-3 {Q‘:} S-737-3 S-738-4
Hot or Cold Hot or Cold Diverter
CRANE STERLING STERLING
Pre-War Shower

Shower
Diverter

(o

()
N’
M C @

03-1659

@ @ ===
(w C_ @ ((

03-1659 HC-113

0
=

Seat # 43 O-Ring 3/8 Bibb Washer # 40 O-Ring 00 Bibb Washer Bibb Screw # 8 O-Ring (Internal) # 37 O-Ring (External)
X-13 02-1576 02-1108 02-1538 02-1100 XS-555 02-1508 02-1580
Bibb Screw 00 Bibb Washer Bibb Screw
XS-555 02-1100
09/01/04
S-90 LARSEN SUPPLY CO,, INC.

LASCO FAUCET REPAIR



BLUE

5624

5631 5632 | 5634 5635
S-740-4 S-745-1 S-745-2 | S-741-1 S-741-2
Diverter Hot Cold | Hot Cold
UNIVERSAL - RUNDLE HARDEN BRASS MIL\éVAU_KEE
eramic

# 15 O-Ring (Internal) # 46 O-Ring (External) # 31 O-Ring (Top) # 18 O-Ring (Bottom)
02-1534 02-1558 02-1522 02-1556

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 591



BLUE

5638 5641 5642

S-741-4 S-748-1 S-748-2

Diverter Hot Cold
MILWAUKEE AUBURN BRASS

LARSEN SUPPLY CO., INC.

FAUCET REPAIR



BLUE

5943 5945 5999
S-762-3 S-763-3 S-1178-3

Hot or Cold Hot or Cold Hot or Cold

SYMMONS SYMMONS HARDEN / SYMMONS

Seat Kit Seat Kit
X-501 X-501

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 55



<
S
o
5
S
N




6004 6053 6054
S-1065-4 @ S-1004-3 S-1166-4
Diverter Hot or Cold Diverter
MICHIGAN BRASS ARROWHEAD ARROWHEAD
F EOXPELOE 8L
8-32 01-4074 03-1677 HC-61 10-24 01-4052 03-1673 HC-47 10-24 01-4052 03-1673

i T

S 01

# 19 O-Ring (Top) # 15 O-Ring (Bottom) # 27 Stem Washer Repair Kit Seat # 1 Packing Seat # 50 Stem Washer # 1 Packing
02-1514 02-1534 02-1414 0-2009 X-126 02-1710 X-126 02-1858 (Fiber) 02-1710

# 43 Stem Washer 3/8L Bibb Washer Bibb Screw 3/8L Bibb Washer Bibb Screw
02-1822 (Nylon) 02-1112 XS-553 02-1112 XS-553

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC.




6055 6056 | 6057 6058 | 6071 6072

S-1175-1 S-1175-2 | S-1176-1 S-1176-2 | S-830-1 S-830-2
Hot Cold | Hot Cold | Hot Cold

ARTISTIC BRASS ARTISTIC BRASS PRICE PFISTER
=
C
14 01-4052 03-1623

L J
- )
- J
— ~
L ]
b
— G

Repair Kit Seat # 16 O-Ring
0-2015 X-24 02-1520
# 28 Stem Washer 00 Bibb Washer Bibb Screw
02-1838 (Nylon) 02-1100 XS-

5-96 LARSEN SUPPLY CO., INC. FAUCET REPAIR




6079 6080 | 6081 6082
PP910-825 PP910-710 | S-733-3 S-733-2 | S-831-1 S-831-2
swas, EBY  wes mees  (BYw.s|® (B>
PRICE PFISTER PRICE PFISTER PRICE PFISTER
Widespread Widespread Widespread
Stem W/ Extension

03-1767

s Eo 8o

01-4052 03-1623 01-4052 03-1623

v 20

01-4052 HC-233
HC-234

03-1623

# 16 O-Ring (Internal)  Repair Kit  # 40 O-Ring (External) | # 16 O-Ring (Internal)  Repair Kit  # 40 O-Ring (External) | # 16 O-Ring (Internal)  Repair Kit  # 40 O-Ring (External)
02-1520 0-2075 02-1538 02-1520 0-2075 02-1538 02-1520 0-2075 02-1538

Seal Seal

Seal
02-1784 02-1784 02-1784

10/06/01

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5



6090 6093 6703 | 6104
S-1110-3 S-1009-3 S-1031-3 | S-1011-4
Hot or Cold Hot or Cold Hot or Cold | Diverter
Stem Only
PRICE PFISTER PRICE PFISTER PRICE PFISTER
Widespread
G ¢ D 92| 9g¢ @
ILI2=C § =[5 § (D
10-24 01-4052 03-1623 ngg}é 10-24 01-4052 HC-61 HC-47 10-24 01-4052 03-1621
16 03-1701
0 o
K K©
RN R
®) )
T\ ) G“R 5"& [\ “@ s‘e
i
\ =
N %;ﬁ
7 ,§
N 0
%I ™ I§
—
=\
NN\
\
[ J
Repair Kit Seat # 16 O-Ring Repair Kit Seat # 43 Stem Washer Repair Kit Seat # 50 Stem Washer
0-2015 X-24 02-1520 0-2011 X-23 02-1822 (Nylon) 0-2013 X-23 02-1858 (Fiber)
# 28 Stem Washer 00 Bibb Washer Bibb Screw # 1 Packing 3/8L Bibb Washer Bibb Screw # 1 Packing # 31 Diverter Washer 3/8L Bibb Washer
02-1838 (Nylon) 02-1100 X$-553 02-1710 02-1112 XS-553 02-1710 02-1808 (Nylon) 02-1112

LARSEN SUPPLY CO., INC.

Bibb Screw
S-55

FAUCET REPAIR



6113 6114 67123 67124
S-1118-3 S-1120-4 S$-1119-3 S$-1119-3G
Hot or Cold Diverter Hot or Cold Hot or Cold
Genuine
PRICE PFISTER PRICE PFISTER PRICE PFISTER
(€] \v« T <) X , M ~
A g ] I"‘l\\ AR C]
i J‘;‘ = S ! V avn S
Ha107 10-24 01-4052 HC 233 HC 109 10-24 01-4052 HC-235 HC-107 10-24 01-4052 HC 233
HC-108 C-234 HC-108 C-234
03-1625 03-1625 03-1625
Repair Kit Seat # 43 Stem Washer Repair Kit Seat # 50 Stem Washer Repair Kit Seat # 1 Packing
0-2009 X-23 02-1822 (Nylon) 0-2013 X-23 02-1858 (Fiber) 0-2009 X-23 02-1710
# 1 Packing 3/8L Bibb Washer Bibb Screw # 1 Packing # 31 Diverter Washer 3/8L Bibb Washer # 43 Stem Gasket 3/8L Bibb Washer Bibb Screw
02-1710 02-1112 XS-553 02-1710 02-1808 02-1112 02-1822 (Nylon) 02-1112 X$-553
Bibb Screw
XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5%



6125
S-1121-4

Diverter

6726 | 6135
S-1121-4G | S-1114-3

Diverter | Hot or Cold
Genuine

PRICE PFISTER

i
L

01-4052 HC-235

Repair Kit Seat
0-2013 X-23
# 1 Packing
02-1710 02-1808 (Nylon)
Bibb Screw
XS-5!
S-100

LARSEN SUPPLY CO., INC.

# 50 Stem Washer
02-1820 (Nylon)

# 31 Diverter Washer 3/8L Bibb Washer
02-11

10-24

Repair Kit
0-2011

PRICE PFISTER

Shower

6138
S-1116-4

Diverter

PRICE PFISTER

il

01-4052 HC-233 HC-109 10-24 01-4052
HC-234

[
\
({(

)

N

\

NN\
\ 2
-\,

FAUCET REPAIR

HC-235



6145 6157 6159

S-1130-3 S-1162-4 S-1163-4
Hot or Cold Diverter Diverter

PRICE PFISTER PRICE PFISTER PRICE PFISTER

3 e~ § S Dl g S

10-24 01-4052 HL-42 0-

(o

.
01-4052 03-1621 HL-42 10-24 01-4052

il

—

# 56 O-Ring # 1 Packing 3/8L Bibb Washer # 57 Stem Washer # 1 Packing Diverter Washer Diverter Washer  1/4L Bibb Washer Bibb Screw
02-1546 02-1710 02-1112 02-1830 (Fiber) 02-1710 02-1756 02-1756 02-1106 X
Bibb Screw 3/8 Bibb Washer Bibb Screw
XS- 02-1108

9/8/98

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5101



6163 6173 6174
S-1013-3 S$-1037-3 S-1067-4
Hot or Cold Hot or Cold Diverter
REPCAL REPCAL REPCAL
W/ Bushing Rivera
@ S| o )( 9 @ =
T \ O '

(y § 22Xy § S22 § & &
HC-160 10-24 01-4052 HC-61 HC-160 10-24 01-4052 HC-61 HC-47 10-24 01-4052 03-1673
HC-161 HC-161

(S )
- -

03-1673 03-1673

“ [

1\ Cl“@ 5

Repair Kit Seat # 20 Packing Repair Kit Seat # 20 Packing Repair Kit Seat # 48 Stem Washer
0-4065 X-10 02-1736 0-4065 X-10 02-1736 - X-10 02-1824 (Fiber)
# 6 Brass Washer  1/4 Bibb Washer Bibb Screw # 6 Brass Washer  1/4 Bibb Washer Bibb Screw # 1 Packing Diverter Washer 1/4 Bibb Washer
02-1662 02-1104 XS-555 02-1662 02-1104 X 02-1710 02-1588 02-1104

Bibb Screw
XS-55

S-102 LARSEN SUPPLY CO., INC.

FAUCET REPAIR



6181 6183 67193
S-1149-3 S-1143-3 S-1144-3
Hot or Cold Hot or Cold Hot or Cold
REPCAL REPCAL REPCAL
Pre-War
x A (Sse e |1Nse iz
= (> g (> : (>
7~ \ = Qe 7~ \ = Qe 7~ \ = Sl
HC-61 10-24 01-4052 03-1621 HC-61 10-24 01-4052 03-1621 HC-61 8-32 01-4052 03-1621
03-1701 03-1701
1™ 15/16"
Thread Thread
\
# 1 Packing # 6 Brass Washer # 16 Stem Washer Repair Kit Seat # 48 Stem Washer Repair Kit Seat # 48 Stem Washer
02-1710 02-1662 02-1668 (Fiber) 0-4065 X-19 02-1824 (Fiber) 0-4065 X-19 02-1824 (Fiber)
3/8 Bibb Washer Bibb Screw # 1 Packing 3/8 Bibb Washer Bibb Screw # 1 Packing 3/8 Bibb Washer Bibb Screw
02-1110 XS-553 02-1710 02-1110 XS-555 02-1710 02-1108 XS-555

FAUCET REPAIR

LARSEN SUPPLY CO., INC.

S-103




6194
S-1152-4

Diverter

> § O &K T 2

01-4052

HL-42

03-1701

Repair Kit
0-4103

# 16 Packing
02-1730

S-104

6195

REPCAL

8 32 01-4052 03-1673 HC-61

Y.z /

Seat # 48 Stem Washer Seat
X-10 02-1824 (Fiber) X-19

1/4 Bibb Washer Bibb Screw
02-1104 XS-555

Diverter Washer
02-1588

LARSEN SUPPLY CO.,

S-1012-3

Hot or Cold

10-2

INC.

REPCAL

",m‘
AV

—

1/4L Bibb Washer
02-1106

67196
S-1160-4
Diverter
REPCAL

;’III{ £,
R =AY §

HC-47 8-32 01-4052 03-1621

03-1701

.
# 48 Stem Washer # 1 Packing
02-1824 (Fiber) 02-1710

FAUCET REPAIR



6197 6202 6201 | 6203

S-1049-3 S-1017-3 1018-3 | S-1117-3
Hot or Cold Hot or Cold Hot or Cold | Hot or Cold
Original
GLAUBER CE CRANE Broach CRANE

Original Stem had a “Q” Broach
NSs & i & @
PES =

HC-61 10-24 01-4052 03-1615

(o

@@

(@

10-24 10-24 01-4052 03-1719

9
<
_’———__‘
Seat # 49 O-Ring # 10 Packing Seat 5/8 Bibb Washer Bibb Screw Seat # 49 O-Ring # 7 Packing
X-239 02-1550 02-1722 X-13 02-1118 XS-555 X-12 02-1550 02-1720
3/8 Bibb Washer Bibb Screw 1/4L Bibb Washer Bibb Screw
02-1112 XS-555 02-1106 XS-5.

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5100



6205 6207
S-1139-3 S-1200-3
Hot or Cold Hot or Cold

G.0.K. BRASS

10-24 01-4052 03-1719

(o

# 50 Stem Washer # 1 Packing
02-1858 (Fiber) 02-1710

Bibb Screw
XS-

1/2L Bibb Washer
02-1116

S-106 LARSEN SUPPLY CO., INC.

CRANE

\

g ——

k\‘\\\\‘\\\'\\

Seat # 48 Stem Washer 1/2L Bibb Washer
X-15 02-1824 (Fiber) 02-1116

Bibb Screw
XS-55!

6223

S-1008-3

Hot or Cold

HARCRAFT

Sz @ &

2N = giIm
HC-61 8-32 01-4064 03-1613

il
# 10 Packing 0 Bibb Washer Bibb Screw

02-1722 02-1102 XS-555

¥ Lsco FAUCET REPAIR



6224 6233 6234
S-1020-4 S-1019-3 S-1021-4
Diverter Hot or Cold Diverter
HARCRAFT HARCRAFT HARCRAFT
S D \)( @ SoC¢
D Rl & |95 € &
HC-47 10-24 01-4064 03-1613 HC-61 10-24 01-4064 03-1613 HC-47 10-24 01-4064 03-1613

() T

Zaattnnnng

& -o,(”‘

Repair Kit # 35 Stem Washer # 10 Packing Repair Kit # 35 Stem Washer # 10 Packing # 27 O-Ring # 35 Stem Washer # 10 Packing
0-4095 02-1842 (Nylon) 02-1722 0-4095 02-1842 (Nylon) 02-1722 02-1414 02-1842 (Nylon) 02-1722

1/4 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw
02-1104 XS-553 02-1104 5 02-1104 XS-555

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5101



6237 6238 | 6243 6253
S-1035-1 S-1035-2 | S-1138-3 S-1042-3
Hot Cold | Hot or Cold Hot or Cold
HARCRAFT HARCRAFT DICK BROTHERS
¥ o = = L&
Za SN = % Za S =
10-32 01-4064 HC-61 10-24 01-4064 03-1613 HC-61 10-24 01-4052 03-1615
——==
—
M
’ g

0 Bibb Washer Bibb Screw Seat # 35 Stem Washer # 11 Packing Seat # 3 Dome Packing # 6 Brass Washer
02-1102 XS-558 X-204 02-1842 (Nylon) 02-1724 X-18 02-2354 02-1662
00 Bibb Washer Bibb Screw # 17 Stem Washer 3/8L Bibb Washer Bibb Screw
02-1100 XS-553 02-1878 (Fiber) 02-1112 X

S-108 LARSEN SUPPLY CO., INC.

LASCO FAUCET REPAIR



6255 6263 6264
S-1059-3 S-1043-3 S-1157-4
Hot or Cold Hot or Cold Diverter
DICK BROTHERS PUBCO PUBCO
Sz¢ @ S @ R 9g¢ @
2N S AN S F=>N B
HC-61 8-32 01-4052 03-1615 HC-61 10-24 01-4052 03-1615 HC-47 10-24 01-4064 03-1615
' [}
' '
! 1
/a—
o —»
L J
1
NV
S
# 48 Stem Washer # 15 Packing 3/8L Bibb Washer # 3 Dome Packing # 6 Brass Washer # 17 Stem Washer # 58 O-Ring 3/8L Bibb Washer Bibb Screw
02-1824 (Fiber) 02-1728 02-1112 02-2354 02-1662 02-1878 (Fiber) 02-1544 02-1112 XS-
Bibb Screw 3/8L Bibb Washer Bibb Screw
XS-553 02-1112

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 5100



6265 6267 6275
S-1041-3 S-1052-3 S-1051-3
Hot or Cold Hot or Cold Hot or Cold
PUBCO PUBCO GLAUBER

P 32 @ &
NN B Za NN = s

HC-61 8-32 01-4046 HC-61 10-24 01-4052 10-24 01-4052

# 1 Packing # 6 Brass Washer # 22 Stem Washer # 1 Packing # 6 Brass Washer # 22 Stem Washer Seat 3/8L Bibb Washer Bibb Screw
02-1710 02-1662 02-1668 (Fiber) 02-1710 02-1662 02-1668 (Fiber) X-239 02-1112 X
1/2 Bibb Washer Bibb Screw 3/8L Bibb Washer Bibb Screw

02-1114 XS-555 02-1112 -

S-110 LARSEN SUPPLY CO., INC.

LASCO FAUCET REPAIR




6277 6279 6281
S-1128-3 S-1142-3 S-1050-3
Hot or Cold Hot or Cold Hot or Cold
GLAUBER GLAUBER MUELLER
¢ @ S92 3 Y
N E AN E §
HC-61 10-24 01-4052 03-1615 HC-61 10-24 01-4052 03 1615 HC-61 10-2 01-4052 03 1615

I

Seat # 48 Stem Washer 3/8L Bibb Washer Seat # 48 Stem Washer # 7 Packing Seat #D Packing # 6 Brass Washer
X-239 02-1824 (Fiber) 02-1112 X-239 02-1824 (Fiber) 02-1720 X-40 02-1712 02-1662
Bibb Screw 3/8L Bibb Washer Bibb Screw # 22 Stem Washer  3/8 Blbb Washer Bibb Screw
XS-555 02-1112 02-1668 (Fiber) 1108 X
02-01-99

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., INC. S-111




6283 6283 6283
S-1136-3 S-1136-3A S-1136-3B
Hot or Cold Hot or Cold Hot or Cold
UNIVERSAL BRASS UNIVERSAL BRASS UNIVERSAL BRASS
9zC @ 3 |Sze @ prig
o G |22 =< §
HC-61 10-24 01-4052 03-1615 HC-61 10-24 01-4052 HC-61 10-24 01-4052

1110 %

1)} \)SE

S

zi
%
¢

W
I

Repair Kit # 22 Dome Packing # 6 Brass Washer # 22 Dome Packing # 6 Brass Washer # 22 Dome Packing # 6 Brass Washer
0-4097 02-1738 02-1662 02-1738 02-1662 02-1738 02-1662
# 19 Fiber Washer  1/2 Bibb Washer Bibb Screw
02-1850 02-1114 XS-555

¢ FAUCET REPAIR




6293

6295 6297
S-1048-3 S-1054-3 S-1055-3
Hot or Cold Hot or Cold Hot or Cold
STERLING BRASS G.0.K. BRASS G.0.K. BRASS
P OLES X§ S8
X @ B L ¢ N =)
HC-61 10-24 01-4052 03-1615 HC-61 10-24 01-4052 HC-61 10-24 01-4052 03-1615

| m = (I 1L

MFG. FOR USE
WITH P.P. TRIM WITH P.P. TRIM

MFG. FOR USE
WITH P.P. TRIM

# 1 Packing # 6 Brass Washer # 16 Stem Washer
02-1710 02-1662

# 10 Packing # 6 Brass Washer # 16 Stem Washer # 10 Packing # 6 Brass Washer # 16 Stem Washer
02-1668 (Fiber) 02-1722 02-1662 02-1668 (Fiber) 02-1722 02-1662 02-1668 (Fiber)
1/2 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw 1/4L Bibb Washer Bibb Screw
02-1114 XS-553 02-1104 XS-555 02-1106 XS-55

C. S-113

FAUCET REPAIR LASCO § LARSEN SUPPLY CO., IN




6299

6303
S-1057-3 S-1060-3
Hot or Cold Hot or Cold
G.0.K. BRASS ENTERPRISE
NTZ S )(/ & T
=€ S &
HC-61 10-24 01-4052 HC-61 10-24 01-4052 03-1615

m
J

MFG. FOR USE
WITH P.P. TRIM

DT AL
‘\\\\\\\\\\

Mk
AN

# D Packing # 6 Brass Washer # 16 Stem Washer Seat # 3 Dome Packing # 6 Brass Washer
02-1712 02-1662 02-1668 (Fiber) X-8 02-2354 02-1662
3/8L Bibb Washer Bibb Screw # 16 Stem Washer 3/8L Bibb Washer Bibb Screw
02-1112 XS-553 02-1668 (Fiber) 02-1112 XS-555

S-114

LARSEN SUPPLY CO., INC. WASCO

6313
S-1132-3

Hot or Cold

FOREST

>V 8 &

HC-61 01-4052

# 8 Stem Washer
02-1876 (Fiber)

Bibb Screw

# 3 Dome Packing # 2 Brass Washer
02-2354 02-1664

1/4L Bibb Washer
02-1106

FAUCET REPAIR

ODIummD
03-1615



6315

S-1133-3
Hot or Cold

FOREST

(o

HC-61 10-24 01-4052

# 3 Dome Packing # 2 Brass Washer # 8 Stem Washer
02-2354 02-1664 02-1876 (Fiber)
Bibb Screw
XS-555

1/4L Bibb Washer
02-1106

((

G.0.K. BRASS

27 BT

10-24

# 10 Packing
02-1722

Bibb Screw
XS-5

6319
S-1141-3
Hot or Cold

MUELLER
NSs¢ & N
X P 8L
HC-61 10-24 01-4052 03-1615

N NSNS

# 48 Stem Washer # 1 Packing # 6 Brass Washer
02-1824 (Fiber) 02-1710 02-1662

3/8 Bibb Washer
02-1108

Bibb Screw
XS-55

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 51



6323
S-1145-3

Hot or Cold

STERLING BRASS

2 7

HC-61 10-24

(@

01-4052

1]
-

MFG. FOR USE
WITH P.P. TRIM

# 1 Packing
02-1710

3/8 Bibb Washer
02-1108

# 6 Brass Washer # 16 Stem Washer
02-1662 02-1668 (Fiber)

Bibb Screw
XS-555

S-116

1/2 Bibb Washer
02-1114

LARSEN SUPPLY CO., INC.

6325

6327
S-1148-3 S-1167-3
Hot or Cold Hot or Cold
STERLING BRASS SCOVILLE
= )
XX 8 481K
] B - ‘an
22N = T 2 = (T
HC-61 10-24 01-4052 03-1615 HC-61 10-24 01-4052 03-1615
T
MFG. FOR USE
WITH P.P. TRIM
==
# 16 Packing # 6 Brass Washer # 16 Stem Washer # 38 Stem Washer  3/8 Bibb Washer Bibb Screw
02-1730 02-1662 02-1668 (Fiber) 02-1844 (Fiber) 02-1108 XS-

Bibb Screw
XS-55

FAUCET REPAIR



6333 6335

S-1131-3 S-1161-4
Hot or Cold Diverter

MUELLER MUELLER

Ungnmm Lo
HC-61 10-24 01-4052 03-1613

X § 828 F

03-1615

=

01-4052

cnfARARARD

# 1 Packing # 4 Brass Washer  1/4 Bibb Washer # 50 Stem Washer # C Brass Washer
02-1710 02-1660 02-1104 02-1858 (Fiber) 02-2302

Bibb Screw
XS-55

06/04/04

FAUCET REPAIR LASCO

6401 6402

S-1024-1 @ S$-1024-2
Hot Cold

AMERICAN STANDARD

AR

W138200 C-187 10-24 01-4067
C-188
Diverter Ball 0 Bibb Washer
02-1280

g LARSEN SUPPLY CO., INC.

Bibb Screw
02-1102 XS-553




6403 6413 6414

S-1068-3 @ S-1108-3 @ S-1109-4 @

Hot or Cold Hot or Cold Diverter

AMERICAN STANDARD AMERICAN STANDARD AMERICAN STANDARD
& & i @ i
K.

%S G 4.7 B L4738
HC-187 10-24 01-4067 S$-104-1 HC-147 10-24 01-4067 03-1615 HC-149 10-24 01-4067 03-1615
HC-188 S-104-2 HC-148

(S ® ®
a
03-1687 03-1681 03-1705 03-1681 03-1705
R
:\:
NS AN
\E ;i
\'- N
N\
# 30 O-Ring # 11 Packing 0 Bibb Washer Repair Kit Seat # 43 Stem Washer Repair Kit Seat # 43 Stem Washer
02-1562 02-1724 02-1102 0-4099 X-2 02-1822 (Nylon) -4101 X-2 02-1822 (Nylon)
Bibb Screw # 13 Packing 0 Bibb Washer Bibb Screw # 5 Packing 1/4 Bibb Washer Bibb Screw
XS-553 02-1726 02-1102 XS-553 02-1704 02-1104 X
S-118 LARSEN SUPPLY CO., INC. FAUCET REPAIR




6417 6423 6424
S-1002-3 @ S-1111-3 @ S-1102-4 @
Hot or Cold Hot or Cold Diverter
AMERICAN STANDARD AMERICAN STANDARD AMERICAN STANDARD
Renu
2P B LY S UDY R
ng:}gg 14 01-4067 14 01-4067 82 14 01-4067 03-1615
S
03-1689 03-1705 03-1689 03-1615 03-1705

(I = I i

T

INARNNNAS

Repair Kit # 42 Stem Washer # 21 O-Ring Repair Kit # 21 O-Ring # 13 Packing Repair Kit Seat # 13 Packing
0-1049 02-1790 02-1504 0-1049 02-1504 02-1726 0-1049 X-238 02-1726
# 13 Packing 0 Bibb Washer Bibb Screw # 42 Stem Washer 0 Bibb Washer Bibb Screw # 42 Stem Washer
02-1726 02-1102 XS-553 02-1790 02-1102 02-1790

FAUCET REPAIR LARSEN SUPPLY CO., INC.




6427 6453

S-1170-3 @ S-1015-3
Hot or Cold Hot or Cold

AMERICAN STANDARD

10-24 01-4067

(o

03-1617

C @

03-1655

6454

(D> D
Diverter

STERLING STERLING

&

((((a

10-32

=

01-4056

/' W
HL-100 10-32 01-4056 03-1653

e
J

03-1669 03-1617 03-1671

< ==

# 50 O-Ring # 13 Packing 0 Bibb Washer Repair Kit Seat # 1 Packing Repair Kit Seat # 48 Stem Washer

02-1564 02-1726 02-1102 0-4055 X-26 02-1710 0-4089 X-26 02-1824 (Fiber)

Bibb Screw # 43 Stem Washer 1/4L Bibb Washer Bibb Screw # 1 Packing 1/4L Bibb Washer Bibb Screw
XS$-555 02-1822 (Nylon) 02-1106 XS-555 02-1710 02-1106 XS-55
Diverter Washer
02-1898
08/02/04
i LARSEN SUPPLY CO., INC. FAUCET REPAIR




6463 6468 6469
S-1045-3 {E} S-1158-4 {E} S$-1047-3 {E}
Hot or Cold Diverter Hot or Cold
GERBER GERBER
AR "9‘ e 'ﬁ-‘"
] & ] ®
HC-258 10-24 01-4075 HC-229 HC-260 10-24 01-4075 HC-229MB HC-223MB 10-24 01-4075 HC-226MB
C_ @
03-1753 03-1609 03-1753 03-1657

Il

Y abed,

'& L
Gy

2

N\
Seat # 43 O-Ring # 5 Packing Repair Kit Seat # 50 Stem Washer Repair Kit Seat # 43 Stem Washer
X-62 02-1576 02-1708 0-4081 X-62 02-1858 (Fiber) 0-4079 X-61 02-1822 (Nylon)
1/4L Bibb Washer Bibb Screw # 5 Packing Diverter Washer  1/4L Bibb Washer # 5 Packing 1/4L Bibb Washer Bibb Screw
02-1106 XS-553 02-1708 02-1898 02-1106 02-1708 02-1106 XS-553
Bibb Screw
XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 52



6470 6497 6499
S-1159-4 {E} S-1033-4 {Q‘:} S-1034-4 {Q‘:}
Diverter Diverter Diverter
GERBER PHOENIX STREAMWAY
SN s | e S
2 LUl H s
14 01-4075 HC-223MB HC-133 14 01-4080 HC-133 14 01-4080

03-1657
r - | l ‘
N

Repair Kit Seat # 50 Stem Washer | # 17 O-Ring (Internal) # 40 O-Ring (External) # 13 O-Ring # 38 Stem Washer Bibb Screw

0-4089 X-61 02-1858 (Fiber) 02-1560 02-1538 02-1404 02-1844 (Fiber) XS-555
# 5 Packing Diverter Washer  1/4L Bibb Washer

02-1708 02-1898 02-1106

Bibb Screw
XS-553
5122 LARSEN SUPPLY CO., INC. FAUCET REPAIR




6503

6504

6511 6512
S-1028-3 S-1112-4 S-1070-1 S$-1070-2
Hot or Cold Diverter Hot Cold
AMERICAN STANDARD AMERICAN STANDARD CENTRAL BRASS
Colony
"2,
& & |
H g 2SI 8 S W §
HC-220AMB 8-32 01-4087 03 1663 HC-220AMB 8-32 01-4087 03 1663 HC-273 10 24 01-4087 03 1613
03-1677 03-1679 03-1677 03-1675
f ————=X
2 ]
9 %
4 %
A
1 N
d %
: § §
f A
Y
1
N\,
A\
Repair Kit Seat Packing Repair Kit # 21 O-Ring Packing # 10 Packing # 43 Stem Washer 3/8L Bibb Washer
0-1043 X-8 02-1882 0-1043 02-1504 02-1882 02-1722 02-1822 (Nylon) 02-1112
# 4 Stem Washer  # 2 Brass Washer Wave Washer # 2 Brass Washer  Diverter Washer Wave Washer Seat Bibb Screw
02-1288 (Nylon) 02-1664 AS72852-07 02-1664 AS72840-07 AS72852-07 X-32 XS-553
Bibb Retainer 0 Bibb Washer Bibb Screw Bibb Screw
AS72801-07 02-1102 XS-555 XS-555
06/27/02

FAUCET REPAIR LASCO

§ LARSEN SUPPLY CO., INC. S-123



6513 6514 6515
S-1053-3 €H} S-1071-4 @ S-1058-3 {I‘I}
Hot or Cold Diverter Hot or Cold

CENTRAL BRASS CENTRAL CENTRAL BRASS
eSS ad
L = i = i =
HC-273 10-24 01-4087 03-1609 HC-275 10-24 01-4087 03-1609 HC-273 8-32 01-4087 03-1609

= ] il

=

7

e
»

Seat # 48 Stem Washer # 7 Packing Seat Seat # 50 Stem Washer # 13 Packing
X-27 02-1824 (Fiber) 02-1720 X-32 X-27 02-1858 (Fiber) 02-1726
3/8L Bibb Washer Bibb Screw 3/8L Bibb Washer Bibb Screw
02-1112 XS-555 02-1112

06/27/02

s-124 LARSEN SUPPLY CO., INC. FAUCET REPAIR




6523 6524 6525
S-1126-3 @ S-1173-4 {E S-1174-3 CI'I}
Hot or Cold Diverter Hot or Cold

CENTRAL BRASS CENTRAL BRASS CENTRAL BRASS
SENG HO® LO®
1 = gItmIm L = aIIIIm (L = oIiIIm
HC-273 10-32 01-4087 03-1613 HC-275 10-24 01-4087 03-1613 HC-275 10-24 01-4087 03-1613

.@ .@

N’ N’

_® o

03-1651 03-1651
1
4
“Old Style
does not ]
have
external
threads!” E !
Repair Kit Seat (Old Style) Seat (New Style) Seat # 46 O-Ring # 7 Packing
0-4109 X-27 X-236 X-27 02-1558 (Nylon) 02-1720
# 47 Stem Washer # 11 Packing 3/8L Bibb Washer 3/8M Bibb Washer Bibb Screw
02-1820 (Nylon) 02-1724 02-1112 02-1110 XS-555
Bibb Screw
XS-553

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 52



6527 6534 6543

S-1171-3 €H} S-1069-4 @ S-1147-3 {I‘I}

Hot or Cold Diverter Hot or Cold

CENTRAL BRASS ELJER DICK BROTHERS
Washerless
Shower
[Ty E D =
HC-292 10-24 01-4087 03-1659 10-24 01-4087 03-1609
f
L4
1A
r
r
| | 4

*
/
v
14
2
H
1

©o0

2

Seat # 35 Stem Washer # 3 Packing # 30 O-Ring # 5 Packing # 2 Brass Washer
X-75 02-1842 (Nylon) 02-1786 02-1562 02-1708 02-1664
Diverter Washer 1/4 Bibb Washer Bibb Screw 1/4 Bibb Washer Bibb Screw
02-1290 02-1104 XS-555 02-1104 XS-555

5-126 LARSEN SUPPLY CO., INC. FAUCET REPAIR




6560 6563
S-826-4 {E S-1025-3 {I} S-1025-2 | S-1066-4
Diverter Hot or Cold Cold Lever | Diverter
Handles
KOHLER KOHLER
r
l & 3
g 82 & I
HC-285MB 01-4087 03-1739 HC-193A KO-20415 01-4060 HC 352
HC-193B SLEEVE C-353
|
( !
i
E——y
—
ﬁ-/l‘
¢
1 o)
o] [
# 15 O-Ring (Internal) # 38 O-Ring (External) Seat # 19 O-Ring # F Brass Washer
02-1534 02-1518 X-66 02-1514 02-2306

0 Bibb Washer
02-1102

8-

1K

KOHLER
2 01-4060

Diverter Washer Ball Washer
02-1282 02-1284

# F Brass Washer
02-2306

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. S



6565 6568 6573
S-1146-3 S-1169-3 S-1125-3
Hot or Cold Hot or Cold Hot or Cold
KOHLER KOHLER KOHLER
@ @ @ = @ @
l l S "l % s
= IogEmm lllllllll = ) =
10-24 01-4060 03-1613 03-1613 10-24 01-4060 HC-352 8-32 01-4060 S$-109-1
HC-353 $-109-2
/ fonmm
HC-193A 03-1613
[] HC-193B
Seat # 44 Stem Washer # 1 Packing # 19 O-Ring Diverter Washer Bibb Screw # 44 Stem Washer # 1 Packing 0 Bibb Washer
X-7 02-1810 (Fiber) 02-1710 02-1514 02-1282 XS-553 02-1810 (Fiber) 02-1710 02-1102

3/8 Bibb Washer Bibb Screw Bibb Screw
02-1108 XS-553 XS-555

s-128 LARSEN SUPPLY CO., INC. FAUCET REPAIR




6574 6577 6585
S-1156-4 S-1151-4 S-1044-3
Diverter Diverter Hot or Cold
KOHLER KOHLER SPEAKMAN
Diamond
T & T T 8 O
= [T = S Guinmm
8-32 01-4060 03-1613 10-24 01-4060 10-24 01-4072 03-1613
r
i L
H 4
1
/ 3 -
——r
R
Seat # 44 Stem Washer # 1 Packing # 19 O-Ring # 44 Stem Washer # 1 Packing Seat # 39 Stem Washer # 11 Packing
X-206 02-1810 (Fiber) 02-1710 02-1514 02-1810 (Fiber) 02-1710 X-34 02-1812 (Fiber) 02-1724
Diverter Washer Ball Washer 0 Bibb Washer 0 Bibb Washer Bibb Screw
02-1282 02-1284 02-1102 02-1102 XS-553
Bibb Screw
XS-555

"FAUCET REPAIR vsco [



e 8§ R RAwER

6587 6588 | 6591 6592
S-828-1 {:M:} S-828-2 | S-827-1 {:M:} S-827-2
Hot Cold | Hot Cold

RB Stem RB Stem

BROADWAY - SPEAKMAN
Wide Spread

S-130

LARSEN SUPPLY CO.,

BROADWAY - SPEAKMAN

Shower

6605
S-1056-3 CNB
Hot or Cold
SPEAKMAN
Kent

¥ B XY B0

10 24 01-4072 03-1613
S-1036-3 < Speakman
Hot or Cold Diamond
CP Stem
Seat #50 Stem Washer #1 Packing
X-46 02-1858 (Fiber) 02-1710
1/2 Bibb Washer Bibb Screw
02-1114 XS-553

INC.

HC 176 10 28 01-4076 03-1609

C-177
I

=

HC-174

HC-175

2 ]]]IIE b

Seat # 48 Stem Washer # 7 Packing
X-20 02-1824 (Fiber) 02-1720

1/2 Bibb Washer Bibb Screw
02-1114 XS-556

02/15/06

FAUCET REPAIR



6603 6604 6601 6602
S-1039-3 {Q‘:} S-1061-4 {Q‘:} S-1046-1 {Q‘:} S-1046-2
Hot or Cold Diverter Hot Cold
BRIGGS BRIGGS BRIGGS - REPUBLIC
N & Fay D &
FIFTY
‘w'g ~N B
HC-176 10-28 01-4076 03-1609 HC-173 10-28 01-4076 03-1609 HC-176 10-28 01-4076 03-1609
HC-177 HC-177
759 <>
) Iy
nez L
6506
S-1040-3
12 PT. PP Broach L

7
/1
Vs
Z
NS
Seat # 40 O-Ring # 9 Packing # 49 O-Ring #3 Packing 1/4L Bibb Washer Seat # 48 Stem Washer #10 Packing
X-20 02-1538 02-1718 02-1550 02-1786 02-1106 X-20 02-1824 (Fiber) 02-1720
3/8L Bibb Washer Bibb Screw Diverter Washer Bibb Screw 1/2 Bibb Washer Bibb Screw
02-1112 XS-556 02-2906 X8-555 02-1114 X8-556

03/30/06

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 551



6613 6614 6617
S-1127-3 {Q‘:} S-1155-4 {Q‘:} S-1129-3 {Q‘:}
Hot or Cold Diverter Hot or Cold
BRIGGS BRIGGS BRIGGS
N
A,

P 2Oy 802Ky & O

HC-176 10-28 01-4076 03-1609 HC- 173 10-28 01-4076 03-1609 HC 176 10-28 01-4076 03-1609

HC-177
g

[
He:178

i

O

/]
oy

ey

L

Yy yov4

.o

m—

Repair Kit Seat Stem Washer # 48 Stem Washer # 9 Packing Diverter Washer # 48 Stem Washer # 11 Packing 3/8L Bibb Washer
0-4111 X-20 02-1866 (Fiber) 02-1824 (Fiber) 02-1718 02-2906 02-1824 (Fiber) 02-1724 02-1112
# 9 Packing 3/8L Bibb Washer Bibb Screw 3/8L Bibb Washer Bibb Screw Bibb Screw
02-1718 02-1112 XS-556 02-1112

S-132 LARSEN SUPPLY CO., INC.

LASCO FAUCET REPAIR



6633 6635

6651 6652
S$-927-3 {Q‘:} S-967-3 {Q‘:} S-941-1 CI'I} S-941-2
Hot or Cold Hot or Cold Hot Cold
UNION GOPHER UNION BRASS CENTRAL BRASS
PHYLRICH
T R IL i = i ==
*3 = ; = =
HC-281 10-24 01-4076 03-1609 HC-281 10-24 01-4076 03-1609 HC-277 10-24 01-4087 03-1609

Seat # 43 O-Ring 3/8L Bibb Washer # H Packing # 38 Stem Washer  1/4 Bibb Washer Seat # 5 Packing # 38 Stem Washer
X-221 02-1576 02-1112 -170 02-1844 (Fiber) 02-1104 X-32 02-1704 02-1844 (Fiber)
Bibb Screw Bibb Screw 1/4 Bibb Washer Bibb Screw
XS-553 XS-555 02-1104

10/15/06

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 55



6664 6674
S-1165-4 @ S-1164-4 @
Diverter Diverter
MILWAUKEE UNIVERSAL - RUNDLE
%
14 01-4082

——ee—

il

# 63 O-Ring (Internal) # 46 O-Ring (External) | # 8 O-Ring (Internal) # 30 O-Ring # 27 O-Ring
02-1537 02-1558 02-1508 (External Top) (External Bottom)
02-1562 02-1414
Diverter Washer
02-1286
S-134 LARSEN SUPPLY CO., INC.

6703

S-1134-3

Hot or Cold

Seat
X-20

1/4L Bibb Washer
02-1106

N
m\mﬂw

BRIGGS

v O

@

10-24 03-1609

# 48 Stem Washer # 15 Packing
02-1824 (Fiber) 02-1728

Bibb Screw

FAUCET REPAIR



6705 6753 6803 6805
S-1137-3 S-1150-4 S-1153-4 S-1154-4
Hot or Cold Diverter Diverter Diverter
1" Bushing 15/16" Bushing
BRIGGS - REPUBLIC KOHLER REPCAL
Wall-O-Matic
@ @ @ @,
= = =
14 03-1609 32 82

| W W W W
v ¥ ¥ %

/ //////////////////A:m
I s

- O M

Seat # 48 Stem Washer # 15 Packing # 3 O-Ring (Internal) # 38 O-Ring (External) | # 8 O-Ring (Internal) # 49 O-Ring (External)
X-17L 02-1824 (Fiber) 02-1728 02-1578 02-1518 02-1508 02-1550
Bibb Washer Bibb Screw Diverter Washer Diverter Ball Bibb Screw # 41 Stem Washer
02-1112 XS-555 02-1282 02-1284 XS-555 02-1524

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. S



6806 6807
S-1016-1 S-1016-2

Hot Cold

STERLING

Roman Tub

—=
—

S-136 LARSEN SUPPLY CO., INC.

FAUCET REPAIR



STEM EXTENSIONS

FOR REPLACEMENT FAUCET AND BATH HANDLES

Made from quality brass. Female splined to fit existing stem spline on one end, male splined
to fit existing handle on the other end. Three inch handle screws (included) to attach handle
and stem extension to existing stem.

ITEM NO. SPLINE SIZE MANUFACTURER DESCRIPTION
03-1771 B PRICE PFISTER, ARROWHEAD
03-1773 C AMERICAN STANDARD 7/16" (AQUA SEAL)
03-1775 D STERLING, ROCKWELL, SCHIABLE
03-1779 F SAYCO, GERBER
03-1781 G AMERICAN BRASS, STREAMWAY, MANSFIELD
INDIANA, NIBCO
03-1783 H DICK BROTHERS, CENTRAL, ELJER, MILWAUKEE
UNIVERSAL-RUNDLE, ROYAL, AMERICAN
STANDARD, COLONY, BARNES WESTERN,
BURLINGTON, SEARS, GRAND HAVEN, KOHLER
03-1785 I KOHLER
03-1793 O UNION BRASS, RICHMOND (RHEEM), BRIGGS,
BORG WARNER, BELVEDERE, INDIANA
03-1795 Q ELKAY, SEARS, UNIVERSAL-RUNDLE, MILWAUKEE

Male splined entire length

Hole drilled
for handle screw

Female spline ——  » | " oD,
i (not threaded)

Easily cut to any length

Ideal for use in those situations when it is necessary to add longer stems or extend the
length of the existing stems. Example: When renovating a shower wall, the new surface
may add an inch or more to the thickness of the old wall, which could mean the existing
valve stem will not protrude through the new wall. It is not necessary to replace the valve,
either order longer stems to accommodate the additional wall thickness, or use the
appropriate stem extension above and cut to desired length. The cost will be negligible
when compared to a new valve, piping, and labor cost.

07/18/05

FAUCET REPAIR 15CO JEE LARSEN SUPPLY GOLING 557



STEM EXTENSIONS

0-2093 DE19104 | MO1136 MO10399
Ref. # 1” Extension | Ref. # Ref. #
10106 for 0-2093 | 1136 10399
DELTA MOEN MOEN
Two Handle Extension 1" Stem & Tube Extension 1" Stem & Tube Extension
Delex / Peerless Temperature Adjustment Valve
_

,—/'J=|\

77 7 7 7 1 T
LN A A O ANy AN oy A W

U dluem

|

MO96945 0-3065 MO13401 | 0-4011
5684t 588 Fo%st
MOEN MOEN MOEN NIBCO
Posi-Temp Extension Two Handle Widespread Cartridge Two Handle Extension
Extension Handle Adapter Nut

o |t
[ O
I: 2-1/8"
E 2-15/16"
[| I: a_______F _
C
1-3/8"
I &
(NOT ACTUAL SIZE)
5-138 LARSEN SUPPLY CO., INC. FAUCET REPAIR




STEM EXTENSIONS

03-1761 03-1763 | PP974-371A 03-1767

Ref. # Ref. #910-560 | Ref. # Ref. #

910-561 Stem Only Extension 974-371A 910-562
PRICE PFISTER PRICE PFISTER PRICE PFISTER
Stem & w’)géere%\),(tension Avante Hydro Seal Extension

PP910-862 03-1769 | 03-1769C SR15220

Ref. # CARDED | Ref. # Ref. #

910-862 910-005/ 910-007 15220
PRICE PFISTER PRICE PFISTER STERLING
Stem and Trim Extension New Ceramic Valve Mixing Valve / Single Lever

New Compression Shower Stem Extension

02/03/00

FAUCET REPAIR 5CO JER LARSEN SUPPLY COLINC. 515



STEM EXTENSIONS

0-3075 V-5806 | 0-4003 0-4005
gseg.s# Cold Lever Handle §7eé.o# g;é'g#
VALLEY VALLEY VALLEY
For Shower Valve Widespread Extension Widespread Stop Extension
gr—
] |

0-3991 0-3995
1 PAIR H&C MO97344 | MO90274 1 PAIR H&C MO97371
COLD Ref. #97478 HOT Ref. # 97344 || Ref. # 90274 COLD Ref. #97555
HOT Ref. #97479 HOT Ref. #97556
For Wide Spread For Shower For Wide Spread For Shower

MOEN MOEN MOEN

Stem Extension Kit Handle Adapter Kit Handle Adapter Kit
Monticello
Wide Spread is Shower is @
1-21/32" Long i 1-19/32" Long
03/04/08

S-140 LARSEN SUPPLY CO., INC. FAUCET REPAIR




STEM EXTENSIONS

0-3121

Ref. #
100429

MOEN

Handle Adapter
Kit

01/02/04

FAUCET REPAIR LARSEN SUPPLY CO., INC.




STEMS

s-142 LARSEN SUPPLY CO., INC. FAUCET REPAIR




0-4057 .......... ... ..., S-16

0-4057S ................. S-12
0-40589 .............. ... S-5
0-4501 .................. S-16
S-101-1 ... S-21
S-101-2 ... S-21
S-102-1 ... S-29
S-102-2 ... S-29
S-106-1 ............ ... .. S-29
S-106-1N . ............... S-29
S-106-2 ............... .. S-29
S-106-2N . ............... S-29
S-107-1 ... S-27
S-107-2 ... S-27
S-108-1 ... S-22
S-108-2 ... ... S-22
S-1M1-1 ..o S-19
S-1M1-2 .. S-19
S-1M2-1 ..o S-20
S-12-2 ... S-20
S-1M4-1 ... S-21
S-14-2 ... S-21
S-1M56-1 .. S-22
S-1156-2 ... S-22
S-16-3 ... S-25
S-M7-1 .o S-20
S-M7-2 ..o S-20
S-1M9-1 ... S-28
S-119-2 ... S-28
S-120-1 ... S-28
S-120-2 ... S-28
S-121-1 ..o S-26

FAUCET REPAIR




STEM PAGE STEM PAGE STEM PAGE
S-218-3 ...l S-23 S-319-1 .. S-27 S-423-1 ... S-47
S-219-3 ... S-23 S-319-2 ...l S-27 S-423-2 ... S-47
S-219-3G ... S-23 S-320-3 ... S-23 S-424-1 ... S-7
S-220-2 ... S-24 S-321-1 o S-25 S-424-2 ... ... L. S-7
S-220-3 ... S-24 S-321-2 ... S-25 S-425-1 ... S-52
S-220-5 ... S-24 S-322-1 .. S-32 S-425-2 ... S-52
S-221-3 ... S-2 S-322-2 .. ... S-32 S-425-3 ... S-52
S-222-3 ... S-2 S-325-1 ... S-28 S-426-1 .. ... S-7
S-223-3 ... S-24 S-325-2 ... S-28 S-426-2 ... ... L S-7
S-224-1 ... S-26 S-326-3 ... S-27 S-428-1 .. ... S-46
S-224-2 ... L. S-26 S-327-1 . S-33 S-428-2 ... ... S-46
S-225-3 ... S-30 S-327-2 ... S-33 S-429-3 ... S-36
S-226-1 ... S-25 S-328-1 ... S-2 S-430-1 ... S-43
S-226-2 ... ... S-25 S-328-2 ... S-2 S-430-2 ... S-43
S-228-1 ... S-32 S-329-3 ... S-1 S-431-1 ..o S-37
S-228-2 ... ... S-32 S-330-1 ... S-6 S-431-2 ... S-37
S-229-3 ... L S-23 S-330-2 ... S-6 S-432-1 ... S-45
S-230-3 ... S-5 S-331-3 ... S-6 S-432-2 ... S-45
S-231-3 ... S-3 S-340-3 ... S-6 S-433-1 ... S-39
S-232-3 ... S-5 S-350-3 ... S-16 S-433-2 ... S-39
S-233-3 ... S-1 S-351-3 ... S-16 S-434-1 ... S-47
S-233-3G . ... S-1 S-362-3 ... S-16 S-434-2 ... S-47
S-234-3 ... S-5 S-363-3 ... S-10 S-435-1 ... S-37
S-236-3 .. ... S-1 S-401-1 ... S-39 S-435-2 .. ... S-37
S-237-3 ... S-5 S-401-2 ... S-39 S-436-1 .. ... S-37
S-240-3 ... ... S-1 S-404-1 ... S-35 S-436-2 ... S-37
S-241-2 ... L S-19 S-404-2 .. ... S-35 S-437-1 . S-39
S-241-3 ... S-19 S-405-1 ... S-35 S-437-2 ... S-39
S-242-2 .. ... ... S-23 S-405-2 ... S-35 S-438-1 .. ... S-31
S-242-3 ... L. S-23 S-407-1 ... S-40 S-438-2 ... S-31
S-243-3 ... S-24 S-407-2 ... S-40 S-439-1 ... S-7
S-300-1 ... S-40 S-408-1 ... S-41 S-439-2 ...l S-7
S-300-2 ... S-40 S-408-2 ... S-41 S-440-1 ... S-45
S-301-1 L. S-44 S-409-1 ... S-44 S-440-2 ... S-45
S-301-2 ... S-44 S-409-2 ... S-44 S-441-3 ... S-6
S-304-1 ... S-46 S-410-1 ... S-44 S-442-2 ... ... L S-2
S-304-2 ...l S-46 S-410-2 ... S-44 S-442-3 ... ... S-2
S-306-1 ... S-43 S-411-1 o S-35 S-442-3G .. ... L S-2
S-306-2 ... S-43 S-411-2 .. S-35 S-443-3 .. ... S-33
S-308-1 ... S-27 S-412-1 . S-42 S-444-3 ... ... S-48
S-308-2 ... S-27 S-412-2 ... S-42 S-445-3 ... L. S-29
S-309-1 ... S-32 S-413-1 . S-40 S-446-3 .. ...l S-2
S-309-2 ...l S-32 S-413-2 ... S-40 S-447-3 ... S-29
S-310-1 ... S-38 S-415-1 . S-39 S-448-1 ... S-49
S-310-2 ... S-38 S-415-2 ... S-39 S-448-2 .. ... ... ... S-49
S-311-1 S-42 S-416-1 .. ... S-39 S-449-3 ... ...l S-2
S-311-2 ... S-42 S-416-2 ... S-39 S-460-3 .................. S-6
S-312-1 . S-30 S-417-1 S-48 S-461-3 ... ... ... S-9
S-312-2 .. ... S-30 S-417-2 ... S-48 S-462-1 ... L. S-47
S-313-1 . S-42 S-418-1 ... S-35 S-462-2 ... ... S-47
S-313-2 ... S-42 S-418-2 .. ... S-35 S-463-1 .. ... S-48
S-315-1 ... S-38 S-419-1 .. S-41 S-463-2 ... ... S-48
S-315-2 ... S-38 S-419-2 ... S-41 S-470-3 ... S-12
S-316-1 .. ... S-44 S-420-1 ... S-38 S-A471-4 .. S-12
S-316-2 ... S-44 S-420-2 ... S-38 S-502-1 ... S-40
S-318-1 ... S-27 S-421-1 . S-42 S-502-2 ...l S-40
S-318-2 ... S-27 S-421-2 ... S-42 S-503-1 ... S-39

S-144 LARSEN SUPPLY CO., INC. g LASCO FAUCET REPAIR




FAUCET REPAIR




STEM PAGE STEM PAGE STEM PAGE
S-814-3A . ... ... S-15 S-940-3 ... S-76 S-1040-3 ............... S-131
S-814-3G ................ S-15 S-941-1 L S-133 S-1041-3 . ....... ... ... S-110
S-814-3P ................ S-15 S-941-2 ... S-133 S-1042-3 . ... S-108
S-815-3 ... ... S-14 S-942-1 .. S-75 S-1043-3 ... ... S-109
S-815-3P ................ S-14 S-942-2 ... L. S-75 S-1044-3 . ... .. S-130
S-816-1 ....... .. ... S-68 S-943-1 ... S-69 S-1045-3 ... ... S-121
S-816-2 ................. S-68 S-943-2 ... S-69 S-1046-1 ............... S-130
S-817-3 .. ... S-74 S-944-1 ... S-70 S-1046-2 . .............. S-130
S-818-1 ... ... S-65 S-944-2 ... L. S-70 S-1047-3 . ... S-121
S-818-2 ... ... ... S-65 S-945-3 ...l S-88 S-1048-3 . ... ... .. S-113
S-819-3 ... L. S-70 S-946-3 ... L. S-71 S-1049-3 ... ... .. S-105
S-820-3 ... S-67 S-947-3 ... S-72 S-1050-3 ............... S-111
S-821-3 ... S-82 S-948-3 ... L. S-79 S-1051-3 ............... S-110
S-822-3 ... L. S-74 S-949-3 ...l S-80 S-1052-3 . ............ .. S-110
S-823-1 ... S-84 S-950-3 ...l S-88 S-1053-3 ... S-124
S-823-2 ... L. S-84 S-951-1 .. S-87 S-1054-3 . ....... ... .. S-113
S-824-3 ... ... ... S-70 S-951-2 ... S-87 S-1055-3 . ... S-113
S-825-1 ...l S-71 S-952-3 ...l S-71 S-1057-3 . ....... ... .. S-114
S-825-2 ... ... S-71 S-953-3 ...l S-81 S-1058-3 ... S-124
S-826-1 ... S-85 S-954-3 ...l S-87 S-1059-3 ... S-109
S-826-2 ................. S-85 S-956-1 ... S-88 S-1060-3 ............... S-114
S-826-4 ................ S-127 S-956-2 ... S-88 S-1061-4 ............... S-131
S-827-1 ... S-130 S-957-3 ... S-89 S-1062-4 . ............... S-83
S-827-2 ... S-130 S-960-4 ................. S-82 S-1063-4 ................ S-80
S-830-1 ... S-96 S-961-4 ... S-74 S-1064-4 . ............... S-80
S-830-2 ................. S-96 S-962-4 ... ... S-89 S-1065-4 ................ S-95
S-831-1 ... S-97 S-963-4 ... ... S-85 S-1066-4 ............... S-127
S-831-2 ... ... ... S-97 S-964-4 .. ... S-73 S-1067-4 ... .......... .. S-102
S-832-3 ... S-66 S-965-4 ... S-82 S-1068-3 ............... S-118
S-901-1 ... S-78 S-966-4 ................. S-84 S-1069-4 ............... S-126
S-901-2 ... S-78 S-967-3 ... S-133 S-1070-1 ... .. S-123
S-903-3 ... S-51 S-968-3 ................. S-84 S-1070-2 ............. .. S-123
S-904-3 ...l S-67 S-969-3 ... ... S-59 S-1071-4 ... S-124
S-905-3 ...l S-68 S-1002-3 ............. .. S-119 S-1102-4 . ... S-119
S-906-1 ... S-67 S-1004-3 ................ S-95 S-1108-3 ............... S-118
S-906-2 ... S-67 S-1008-3 ............. .. S-106 S-1109-4 ... ... S-118
S-907-3 ... S-78 S-1009-3 ... ... S-98 S-1M10-3 ... S-98
S-910-3 ... S-69 S-1011-4 ... S-98 S-M11-3 ... S-119
SOM-4 ... S-69 S-1012-3 ... S-104 S-1M12-4 ..o S-123
S-912-3 ... S-73 S-1013-3 ... S-102 S-1M14-3 ... S-100
S-913-1 .. S-73 S-1015-3 ... S-120 S-1M15-4 ... S-120
S-913-2 ... S-73 S-1017-3 ... ... ... S-105 S-1M116-4 ... S-100
S-914-3 ...l S-72 S-1019-3 ... S-107 S-1M17-3 .. S-105
S-915-4 .. ... S-72 S-1020-4 . ... ... .. S-107 S-1M18-3 ... S-99
S-918-3 ... S-79 S-1021-4 ... ... S-107 S-1M19-3 ... S-99
S-919-4 ... S-77 S-1024-1 ... S-117 S-1119-3G ... S-99
S-922-1 .. S-86 S-1024-2 . ... ... S-117 S-1120-4 . ... ... S-99
S-922-2 .. ... L. S-86 S-1025-3 . ... S-127 S-1M121-4 ... S-100
S-924-3 ... L. S-77 S-1028-3 ... S-123 S-1121-4G ... S-100
S-925-4 ... S-77 S-1031-3 ... S-98 S-1123-3 ... ... S-17
S-927-3 ... S-133 S-1033-4 ... S-122 S-1125-3 ... S-128
S-928-4 ... ... S-89 S-1034-4 . ... S-122 S-1126-3 ... S-125
S-929-3 ...l S-90 S-1035-1 ... S-108 S-127-3 ... S-132
S-931-4 ... S-68 S-1035-2 . ... S-108 S-1128-3 . ... ... S-111
S-934-4 ... S-79 S-1036-3 ............... S-129 S-1129-3 ... ... S-132
S-937-3 ... S-78 S-1037-3 . ... S-102 S-1130-3 ... ... S-101
S-938-3 ... S-85 S-1039-3 ... S-131 S-1M31-3 ... S-117

S-146 LARSEN SUPPLY CO., INC. g LASCO FAUCET REPAIR




S-132-3 ... S-114 DE16423 ................. S-3
S-133-3 ... S-115 DE18037 ................. S-4
S-134-3 ... L. S-134 DE19804 ................ S-15
S-1135-3 ... S-115 DE20111 ................. S-4
S-1136-3 ... S-112 DE24096 ................. S-4
S-136-3A ... S-112 DE25609 ................ S-10
S-1136-3B .............. S-112 DE8230 .................. S-4
S-1M37-3 ... S-135 GR47-025 ............... S-17
S-1138-3 ... ... ... S-108 GR47-041 ... ............ S-17
S-1139-3 ...l S-106 KO-22909 ............... S-13
S-1141-3 .. ... S-115 KO-30092 ............... S-13
S-1142-3 ... ... .. S-111 PP910-825............... S-97
S-1143-3 .. ... L. S-103 PPO10-710............... S-97
S-1144-3 .. ... .. ... ... S-103 SP05-352 ................ S-17
S-1145-3 ... ... S-116 SPECIAL ORDER1 ........ S-11
S-1146-3 ............... S-128 SPECIALORDER2 ........ S-13
S-147-3 .. ... S-126
S-1148-3 ............. .. S-116
S-1149-3 ... L. S-103
S-11560-4 ... ... S-135
S-1561-4 ...l S-129
S-1162-4 .. ... ... S-104
S-1163-4 ...l S-135
S-11564-4 .. ... L. S-135
S-1165-4 .. ... L. S-132
S-11566-4 ... ... S-129
S-1M67-4 .. ...l S-109
S-1168-4 .. ... ... S-121
S-11569-4 .. ... L. S-122
S-1160-4 ............... S-104
S-1161-4 ... S-117
S-1162-4 ... S-101
S-1163-4 ............... S-101
S-1164-4 .. ... ... S-134
S-1165-4 ... ... ..., S-134
S-1166-4 ................ S-95
S-167-3 ... ... .. S-116
S-1169-3 ............... S-128
S-1M70-3 ... ... S-120
S-M71-3 .. ... S-126
S-1M73-4 ... S-125
S-1M74-3 .. ... ... S-125
S-M75-1 .. S-96
S-1M75-2 ... S-96
S-1M76-1 ... S-96
S-1M76-2 ... ... S-96
S-M77-1 o S-17
S-M77-2 ... S-17
S-1M78-3 ... S-93
S-1200-3 ............... S-106
AS28610-07 .............. S-34
AS28628-07 .............. S-34
AS61226-04 .............. S-10
AS63131-04 .............. S-10
AS63845-07 .............. S-11
DE12301 ................. S-4
DE16207 ................ S-15

FAUCET REPAIR LASCO g

LARSEN SUPPLY CO., INC.




STEM PAGE STEM PAGE STEM PAGE
S-814-3A . ............... S-15 S-940-3 ... S-76 S-1040-3 ............... S-131
S-814-3G ................ S-15 S-941-1 L S-133 S-1041-3 ... .. ... .. S-110
S-814-3P ................ S-15 S-941-2 ... S-133 S-1042-3 . ... S-108
S-815-3 ... ... ... S-14 S-942-1 . S-75 S-1043-3 ... ... ... S-109
S-815-3P ................ S-14 S-942-2 ... L. S-75 S-1044-3 ... ...... ... S-130
S-816-1 ....... ... .. ..., S-68 S-943-1 .. S-69 S-1045-3 . ... ... S-121
S-816-2 ................. S-68 S-943-2 ...l S-69 S-1046-1 ............... S-130
S-817-3 .. ... S-74 S-944-1 .. S-70 S-1046-2 . .............. S-130
S-818-1 .. ... S-65 S-944-2 ... L. S-70 S-1047-3 . ... ... S-121
S-818-2 ... ... S-65 S-945-3 ...l S-88 S-1048-3 . ... ... .. S-113
S-819-3 ... ... S-70 S-946-3 ... L. S-71 S-1049-3 ... ............ S-105
S-820-3 ................. S-67 S-947-3 ...l S-72 S-1050-3 ............... S-111
S-821-3 ... ... S-82 S-948-3 ... L. S-79 S-1051-3 ... ... ....... S-110
S-822-3 ... S-74 S-949-3 ...l S-80 S-1052-3 ............. .. S-110
S-823-1 .. ... S-84 S-950-3 ... S-88 S-1053-3 ... S-124
S-823-2 ... ... S-84 S-951-1 . S-87 S-1054-3 . ............ .. S-113
S-824-3 ... ... S-70 S-951-2 ...l S-87 S-1055-3 . ... S-113
S-825-1 ... L. S-71 S-952-3 ...l S-71 S-1057-3 ............. .. S-114
S-825-2 ... ... S-71 S-953-3 ...l S-81 S-1058-3 ............... S-124
S-826-1 ... S-85 S-954-3 ...l S-87 S-1059-3 ... ... ... .. S-109
S-826-2 ................. S-85 S-956-1 ... S-88 S-1060-3 ............... S-114
S-826-4 ................ S-127 S-956-2 ... S-88 S-1061-4 ............... S-131
S-827-1 ... S-130 S-957-3 ... S-89 S-1062-4 ................ S-83
S-827-2 ... L. S-130 S-960-4 ................. S-82 S-1063-4 ................ S-80
S-830-1 ... ... S-96 S-961-4 ... S-74 S-1064-4 . ............... S-80
S-830-2 ................. S-96 S-962-4 ... L. S-89 S-1065-4 ................ S-95
S-831-1 ... S-97 S-963-4 ... S-85 S-1066-4 . .............. S-127
S-831-2 ... S-97 S-964-4 ... ... S-73 S-1067-4 . .............. S-102
S-832-3 ... S-66 S-965-4 ... S-82 S-1068-3 . .............. S-118
S-901-1 ... S-78 S-966-4 ................. S-84 S-1069-4 . .............. S-126
S-901-2 ...l S-78 S-967-3 ... S-133 S-1070-1 ............... S-123
S-903-3 ... S-51 S-968-3 .............. ... S-84 S-1070-2 ............... S-123
S-904-3 ... L. S-67 S-969-3 ... S-59 S-1071-4 .. ... S-124
S-905-3 ...l S-68 S-1002-3 ............. .. S-119 S-1102-4 . ... S-119
S-906-1 ... S-67 S-1004-3 ... ... S-95 S-1108-3 ............. .. S-118
S-906-2 ... S-67 S-1008-3 ............. .. S-106 S-1109-4 ... ... S-118
S-907-3 ... S-78 S-1009-3 ................ S-98 S-1M10-3 ... S-98
S-910-3 ... S-69 S-1011-4 ... S-98 S-M11-3 ... S-119
SOM-4 ... S-69 S-1012-3 ... S-104 S-1M112-4 ... S-123
S-912-3 ... S-73 S-1013-3 ... S-102 S-1M14-3 ... S-100
S-913-1 ... S-73 S-1015-3 ... S-120 S-1M15-4 ... S-120
S-913-2 ... S-73 S-1017-3 ... ... S-105 S-1M16-4 ... L. S-100
S914-3 ... S-72 S-1019-3 ... S-107 S-1M17-3 .. S-105
S-9154 ... S-72 S-1020-4 ............. .. S-107 S-1M18-3 ... S-99
S-918-3 ... S-79 S-1021-4 ... S-107 S-1M19-3 ... S-99
S-9194 ...l S-77 S-1024-1 ... ... S-117 S-1119-3G ... S-99
S-922-1 ... S-86 S-1024-2 . ... S-117 S-1120-4 ... S-99
S-922-2 ... L. S-86 S-1025-3 ... S-127 S-1M21-4 ... S-100
.............. S-100

................ S-17

............... S-128

............... S-125

............... S-132

................ S-111

............... S-132

............... S-101

............... S-117

REPAIR



